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Conepxkanue

[TactiopT KOMITIEKTa KOHTPOJIBHO-OIIEHOYHBIX CPEJICTB.

Pe3ynbTathl ocBOSHUS Y4eOHOM NUCITUTUTMHEIL, ITOJICKAIINE TIPOBEPKE.
OneHka 0CBOCHHUS Y4eOHON JUCHUTUIAHBIL:

@DOpMBI 1 METOJIBI OIICHUBAHMUS.

KomudukaTop oieHOYHBIX CPENICTB.

3amanus 7151 OIICHKW OCBOCHMS TUCIIMIUIAHEI.



1. HacnopT KOMIUICKTA KOHTPOJIBbHO-OIICHOYHBIX CPEACTB

B pesynbrare ocBoeHus yueOHoi mucuurmuuel OI'C3.03 Unocmpannwiii
A3bIK  OOyvaloluiicss JIOJbKeH oOnmanate npeaycMoTpenHsiMu  PI'OC  no
cnenuanbHocT 23.02.01 Opeanuzayus nepesosok u ynpasienue Ha mpaHcnopme
(no sudam) (bazoeas no0comoexa) CACAYIONIUMHI 3HAHUSIMH, YMEHUAMHU, KOTOPbIC
dbopmupytoT npodeccroHanbHble KOMIETCHIIMN, U OOLUIMMHU KOMIETEHIUSMHU, a
TaK)K€ JIMYHOCTHBIMU pe3yjibTaTaMHd OCBAaMBAEMBbIMU B pPaMKax IPOrpaMMbl
BOCITUTAHUS:

Y1 - oOmarbcs (YCTHO W TMCBMEHHO) Ha WHOCTPAHHOM sI3BIKE Ha
npohecCHOHANBbHBIE U TIOBCETHEBHBIE TEMBI,
Y2 - mepeBoauTh (CO CIOBapeM) HMHOCTPAHHBIE TEKCThl MPOGEeCCHOHATHLHON

HaIlPaBJIEHHOCTH;
Y3 - CcaMOCTOSITEIbHO COBEPIICHCTBOBAaTh YCTHYIO M IIMCBMEHHYIO pE€Yb,
IIOTOJIHATD CJIOBApHBIM 3ar1ac.

31 - nekcuyeckuir (1200-1400 neKCHYECKUX EIUHUI])) W TpaMMaTHYECKUN

MUHUMYM, HEOOXOAUMBIN JJIi UTEHUS U MepeBoja (CO CI0BapeM) MHOCTPAHHBIX
TEKCTOB MPOPECCUOHATBHON HANpPaBICHHOCTH.

OK 02. Mcnons30BaTh COBPEMEHHBIE CPEACTBA IMOMCKA, aHAJIN3a U MHTEPIIPETALNN
uHbpopMaud U  HUHQPOPMAIIMOHHBIE TEXHOJIOTMM JUIsl  BBIMOJIHEHUS  3a7a4
npo¢eCCUOHAILHON AEATEIbHOCTH

OK 04. DddhexTrBHO B3aMOACHCTBOBATh U pabOTATh B KOJUICKTUBE M KOMAH/IE

OK 09. ITonp30BaThcst MPOPECCHOHATBHON TOKYMEHTALUENW HA TOCYJapCTBEHHOM U
MHOCTPAHHOM SI3bIKaX

[IK 1.1. BpinmonHsATh onepanuy Mo OCYIIECTBICHHUIO MEPEBO30YHOTO Mpolecca ¢
IPUMEHEHUEM COBPEMEHHBIX HMH(GOPMALMOHHBIX TEXHOJIOTMM  yIpaBieHHS
IIEPEBO3KAMM.

I[IK 1.3. OdopmusaTh JOKYMEHTBI, pPErIAMEHTUPYIOIIUE  OpPTraHU3AIHI0
IIEPEBO30YHOIO IpoLecca.

[IK 3.1. Opranu3oBbiBaTh pabOTy TMEpcoHaNa MO OO0pabOTKE MMEePEeBO30YHBIX
JOKYMEHTOB M  OCYLIECTBJIEHUIO pacyeTOB 3a YCIYId, MPEJoCTaBISIEMbIC
TPAHCIIOPTHBIMU OPTraHU3aALUSIMU.

[IK 3.3. IIpumensTs B npodecCHOHANTBHON NEATeTbHOCTH OCHOBHBIE TMOJIOKEHUS,
PETyIMPYIOLIYE B3aUMOOTHOLIEHUS TI0JIb30BaTENIEl TPAHCIIOPTA U MEPEBO3UHKA.
JIP 8. IlposBiArommid M JEMOHCTPUPYIOIIUA YBaXXEHHE K IPEICTABUTEISAM
Pa3IMYHBIX ATHOKYJIBTYPHBIX, COLUATBHBIX, KOHPECCUOHANBHBIX M MHBIX TPYMII.
ConpuyacTHbIE K COXPAHEHHIO, MPEYMHOXKEHHIO M TPAHCIALMH KYJIbTYpPHBIX
TPAAULIMN YU LIEHHOCTEW MHOTOHAIIMOHATIBHOTO POCCUMCKOTO TOCYAapCTBa;

JIP 11. TlposBisitolinii yBa)K€HHE K ASCTETUUYECKUM IIEHHOCTSIM, OOJIaaroIInii
OCHOBAMHM 3CTETUYECKON KYJIbTYPHI;

JIP 13. '0TOBHOCTB 00Yy4aroILIErocsi COOTBETCTBOBATh OKUAAHUAM pabOTOIaTENEH:
OTBETCTBEHHBIN COTPYIHUK, JTUACLUITIMHUPOBAHHBIN, TPYIOTFOOUBBIHA,
HaIleJICHHBIM ~ HAa  JIOCTMIKEHWE  TOCTaBJICHHBIX  3amad,  3(h(exTuBHO



B3aMMOJCHUCTBYIOIIMNA C WIEHAMU KOMAaHJbl, COTPYJHHYAIOUIMNA C JAPYIrUMU
JIXOJIbMU, IPOEKTHO MBICIISIIIN;

JIP 17. llenHocTHOE OTHOIIEHHE oOydaronmxcs kK cBoemy OTedecTBy, K CBOEU
Majgoi u Ooinbliol PoauHe, yBaXKMTENbHOIO OTHOIICHHS K €€ HCTOpUH U
OTBETCTBEHHOTO OTHOILIEHUS K €€ COBPEMEHHOCTH;

JIP 18. lleHHOCTHOE OTHOIIIEHHWE OOYYAIOIMIMXCS K JIFOJSIM UHOW HAIIMOHAIBHOCTH,
BEPBI, KyJIbTYPbI; YBaXKUTEIBHOTO OTHOILLIEHHUS K UX B3TJISA1aM;

JIP 24. lleHHOCTHOE OTHOILIEHME OOYy4YalIIMUXCA K KYyJIbType, U HCKYCCTBY, K
KYJIbTYpPE€ PE€UH U KYyJIbTYpE MOBEAECHUS, K KPACOTE U TAPMOHHH.

dopmoii arTecTanuu Mo y4eOHOU TUCIUIUIMHE SIBIISIETCS Ouhghepenuuposannlil
3auem.



2. Pe3yabTarsl
npoBepKe

2.1.

OCBOCHHUSI Y4YeO0HON JMCHUILUIUHBI,

noaJiezkamme

B PE3YJIbTAaTC aTTCCTAlINUN II0 yqe6H0ﬁ AUCHUIIIIMHEC OCYHICCTBIIICTCA

KOMIUICKCHAA IIPOBCPKaA CIICAYIOOINX YMCHI/Iﬁ )51 3HaHHﬁ, a TaxKiKC JIHMHaMHKa

dbopmMupoBaHUs  OOIIMX,

npodeccruoHaIbHBIX

PE3YIILTATOB B paMKax IIpOrpaMMbl BOCIIUTAHHA:

KOMHGTeHHI/Iﬁ n JIMYHOCTHBIX

Pe3yabTarhl 00y4eHust

Iloxka3atenu OIICHKH

(I)OpMa KOHTPOJISAA U

OK 02, OK 04

UCIIONIB3Ysl HEOOXOIUMBIE

(Y, 3, OK/IIK, JIP) pe3yJbTara OLleHUBAHUS
Y1 - oOmarbcs (YCTHO H | YMEHHE TIpaMMaTHYECKU DopMmbI KOHTPOJIS
MMCBMEHHO) HA HWHOCTPAHHOM | MPaBUIBHO  O(QOPMIIATH o0yueHwust:
SA3BIKEC HaA HpO(i)eCCI/IOHaJII)HI)Ie nu }’CTHI)IC U IIMCBMCHHBIC — JOMAIITHUEC 3adaHUs
IIOBCCAHCBHBIC TCMbI BBICKAa3bIBaHMA, HpO6J'IeMHOFO XapakKTepa,

— HPAaKTHYCCKUEC 3adaHHA

IIK 1.1, IIK 1.3, TIK 3.1, I1K 3.3

IIK 1.1, IIK 1.3, IIK 3.1, [IK 3.3 JIEKCUYECKUE EOUHUIILI B o pabore C
JIP 8, JIP 11, JIP 13, JIP 17, COOTBETCTBHU c uHpopMmanuen,
JIP 18, JIP 24 TEMATUKOU U LEJBIO JIOKYMEHTaMHU,
BBICKA3bIBaHHS JTUTEPaTypoi;
Y2 - mepeBoauTh (CO ClIOBapeM) | BIaJICHHE OCHOBHBIMH - 3almMTa
WHOCTpaHHBIC TEKCTBI | TpUEMaMU nepeBo/ia, WHIUBUTYJIbHBIX u
npodecCuoHAIBHON npodeCCHOHAIBHON IPYIIIOBBIX 3aJaHui
HaIpaBJIEHHOCTH TEPMHUHOJIOTHEH 51 MIPOEKTHOTO XapaKTepa.
OK 02, OK 09 OCBEIOMJIEHHOCTD B
IIK 1.1, IIK 1.3, IIK 3.1, IIK 3.3 OCHOBHBIX MeToabl OIlEHKH
JIP 8, JIP 11, JIP 13, JIP 17, TEXHOJIOTHYECKHX pe3yJibTaToB 00y4eHHs :
JIP 18, JIP 24 rponeccax — TpaAUIMOHHAS CHCTEMa
V3 - CaMOCTOSTENILHO | BIaJACHHE OCHOBHBIMH OTMETOK B Oammax 3a
COBCPHICHCTBOBAThL YCTHYHO M | MOTHMBaMHM BbIOOpa Kaxayro BBITIOJIHCHHYO
MUCbMEHHYIO pe€Yb, TMOMOJHATh | HY>KHBIX JIEKCHYCCKHUX pabory, Ha OCHOBE
CJIOBapHbIN 3amac COUHUI, HEO0OXOIUMBIX KOTOPBIX  BBICTABJIACTCS
OK 02, OK 09 I JOCTMDKEHUS el HATOroBast OTMETKA,;
MK 1.1, IIK 1.3, TIK 3.1, TIK 3.3 BBICKa3bIBAHUS —  MOHHTOPHMHI  POCTa
JIP 8, JIP 11, JIP 13, JIP 17, TBOPUYECKOM
JIP 18, JIP 24 CaMOCTOSITEIIbHOCTH u
HaBBIKOB MOJTy4YeHUs
HOBOT'O 3HAHUS KaXKIbIM
o0yJarmuMmcs.
31-  nexcuwueckuit  (1200-1400 | pacmmupenune akTHBHOTO U | DopMbI KOHTPOJIAA
JICKCHYECKUX SMHHUI) U | TaCCUBHOTO  CJIOBApHOTIO | OOy4YeHHsI:
rpaMMaTHYEeCKUN MHUHHMYM, | 3amaca, HEOOXOAMMOTo IJisi | —  JIOMAallHUE  3aJaHusd
HEOOXOAMMBIA IS YTEHUS U | YTCHHUS u nepeBoja | MPOOJIEMHOrO XapakTepa;
nepeBoaa (co CJIOBapeM) | MHOCTPaHHBIX TEKCTOB | — TIPAKTUYECKHE 3aJTaHUS
WHOCTPaHHBIX TEKCTOB | MPOQEeCCHOHATHHON o pabote v
npo¢eCcCuOHATBHON HaNpaBJIECHHOCTH uHpopMmanuen,
HaIpaBJIE€HHOCTH. JIOKYMEHTaMHU,
OK 02, OK 04, OK 09 JUTEpaTypoii;

- 3aluTa




JIP &, JIP 11, JIP 13, JIP 17,
JIP 18, JIP 24

WUHIVBUAYAJIBHBIX u
IPYIIIOBBIX 3alaHUAM
IIPOEKTHOT'O XapaKTepa.

MeTtoanl OIICHKH
pe3yJabTaToB 00y4eHUs :
— TpaJULIMOHHAs CUCTEMa
OTMETOK B Oamiax 3a
KOKIYI0  BBIIOJIHEHHYIO
paboty, Ha OCHOBE
KOTOPBIX  BBICTaBJIAETCSA
UTOronasa OTMETKa,

—  MOHHUTOPHHI  poOcCTa

TBOPYECKOMN
CaMOCTOSITEIbHOCTH u
HaBBIKOB MOJIYYCHUA

HOBOTO 3HaHUS KaXIbIM
00yJaronmMcs.




3. OneHka ocBOeHUs Y4eOHOM TUCUMIINHBI:

3.1. ®opMbl 1 MeTOAbI KOHTPOJISI.

[IpeameToM OLIEHKHM Ciy:KaT yMeHHs W 3HaHus, npenycmoTpeHHble PI'OC 1o
mucuuruinHe OI'CO.03 Hunocmpannbli A3viK, HaNpaBieHHbIE Ha (GOPMHUPOBAHUE
00X ¥ MPOoPECCHOHATBHBIX KOMITETCHIINN, a TAKXKE TUIHOCTHBIX PE3yJbTAaTOB B
paMKax mporpamMMbl BOCITUTAHMUS.



KoHTpo.1b 1 0nleHKa 0CBOeHUsI Y4eOHOH JUCHUIIMHBI 110 TeMaM (pa3aesiam)

OnemeHnT Y]] DopMBbI U METOJIbI KOHTPOJIA
Texymui KOHTPOJIb PyOe)XHBII KOHTPOIIb IIpomexxyrounas arrecranus
Dopmbl IIposepsemsbie OK, T1K, Dopmbl [Iposepsemsbie OK, T1K, ®dopma [Iposepsaemsbie OK, TIK,
KOHTPOJIS Vv, 3, JIP KOHTPOJIA v, 3, JIP KOHTPOJIA Vv, 3, JIP
Pa3zjnea 1. BBoano- T V1, VY3, 31, /3 V1,¥2,¥3,31,
KOPPEKTHBHBIH OK 02, OK 04, OK 09 OK 02, OK 04, OK 09
Kypc¢ JIP 8, JIP 11, JIP 13,
JIP 18, JIP 24
Tema 1.1. Yo, V1, VY3, 31, KP Ne ] V1, V3,31,
Ornucanue JToIeH: CP 1 OK 02, OK 04, OK 09 OK 02, OK 04, OK 09
Ipy3€il, pOAHBIX HU JIP 8, JIP 11, JIP 13,
ONMM3KUX ©  T.J. JIP 18, JIP 24
(BHEITHOCTb,
XapakxTep,
JTUYHOCTHBIE
KauecTBa)
Tema 1.2. Yo, V1, V3,31,
MeXIUIHOCTHEIC CP 2, OK 02, OK 04, OK 09
OTHOIIIEHHUS J0Ma, B 1P JIP 8, JIP 11, JIP 13,
y4eOHOM JIP 18, JIP 24
3aBEICHUH,
Ha paboTe
Pasznen 2. I3 Vi1, V2, VY3, 31,
PazBuBarommii OK 02, OK 04, OK 09
Kypc¢ K 1.1, TIK 1.3,
K 3.1, TIK 3.3
JIP 8, JIP 11, JIP 13,
JIP 18, JIP 24
Tema 2.1. Yo, V1, V3,31,
IToBcenueBHas CP 3, OK 02, OK 04, OK 09




JKU3Hb, YCIIOBUS 1ipP JIP 8, JIP 11, JIP 13,
KU3HHM,  YYCOHBIN JIP 18, JIP 24
JICHb, BBIXOTHOM
JICHb
Tema 2.2. YO, V1,V3,31,
310poOBbE,  CIOPT, CP 4, OK 02, OK 04, OK 09
MpaBuiia 340pOBOro 1P JIP 8, JIP 11, JIP 13,
o0pasa Ku3HU JIP 18, JIP 24
Tema 2.3. Topon, Yo, V1, V3,31,
JIEPEBHS, CP 5, OK 02, OK 04, OK 09
uHppacTpykTypa 11P JIP 8, JIP 11, JIP 13,
JIP 18, JIP 24
Tema 2.4. locyr Yo, V1, V3,31,
CP6, T OK 02, OK 04, OK 09
JIP 8, JIP 11, JIP 13,
JIP 18, JIP 24
Tema 2.5. HoBocTtn, Yo, V1, V3,31,
CpelicTBa MacCOBOM CP7, T OK 02, OK 04, OK 09
uHpopManun JIP 8, JIP 11, JIP 13,
JIP 18, JIP 24
Tema 2.6. IIpupona Yo, V1, V3,31,
1 YeNoBeK (KJIMMar, CP S, OK 02, OK 04, OK 09
MOro/1a, SKOJIOTHS ) 1ipP JIP 8, JIP 11, JIP 13,
JIP 18, JIP 24
Tema 2.7. Yo, Vi1, V2,3, 31,
Oo6pazoBanue B CPY, OK 02, OK 04, OK 09
Poccuu u 1iprP JIP 8, JIP 11, JIP 13,
3apyoeKoM, JIP 18, JIP 24
cpenHee
npodeccuoHanbHOe
o0Opa3oBaHHe
Tema 2.8. YO, V1, V3,31,
KynbTypHblE u CP 10, OK 02, OK 04, OK 09




HallMOHAJIbHBIE 1ipP JIP 8, JIP 11, JIP 13,
TpaJuIINH, JIP 18, JIP 24
KpaeBe/IeHHE,
o0ObIuan u
MIPa3IHUKU
Tema 2.9. YO, V1, V3,31,
OOmecTBeHHast 1P OK 02, OK 04, OK 09
JKU3HB JIP 8, JIP 11, JIP 13,
(moBceHEBHOE JIP 18, JIP 24
IOBEICHUE,
npodeccuoHabHBIC
HABBIKU ¥ YMEHUS)
Tema 2.10. YO V1, V3,31, KP Ne 2 V1, V3,31,
Hayuno- OK 02, OK 04, OK 09 OK 02, OK 04, OK 09
TEXHHUYCSCKHUI JIP 8, JIP 11, JIP 13,
IIporpecc JIP 18, JIP 24
Tema 2.11. YO, V1, V3,31,
[Ipodeccun, 1P OK 02, OK 04, OK 09
Kapbepa IK 1.1, I[IK 1.3,
IK 3.1, TIK 3.3
JIP 8, JIP 11, JIP 13,

JIP 18, JIP 24
Tema 2.12. OTampix, Yo, V1, V3,31,
KaHUKYJIBI, OTIYCK. 1P OK 02, OK 04, OK 09
Typusm JIP 8, JIP 11, JIP 13,

JIP 18, JIP 24
Tema 2.13. YO, V1, V3,31,
HckyceTBo u 1P OK 02, OK 04, OK 09
pa3BIICYEHHUS JIP 8, JIP 11, JIP 13,

JIP 18, JIP 24
Tema 2.14. YO V1, V3,31, KP Ne 3 V1, V3,31,
IN'ocynapctBerHOE OK 02, OK 04, OK 09 OK 02, OK 04, OK 09

YCTPOMCTBO,

JIP 8, JIP 11, JIP 13,




IIPaBOBBIE JIP 18, JIP 24
WHCTUTYTBI
Tema 2.15. YO V1, V3,31, KP Ne 4 V1, V3,31,
JIOKyMEHTBI OK 02, OK 04, OK 09 OK 02, OK 04, OK 09
(mucbma, K 1.1, [IK 1.3, K 1.1, [IK 1.3,
KOHTPAKTHI) IK 3.1, TIK 3.3 IIK 3.1, IIK 3.3
JIP 8, JIP 11, JIP 13,
JIP 18, JIP 24
Tema 2.16. YO, V1,V2,V3,3l,
Tpaucnopt 1P OK 02, OK 04, OK 09
K 1.1, [IK 1.3,
IK 3.1, I[IK 3.3
JIP 8, JIP 11, JIP 13,
JIP 18, JIP 24
Tema 2.17. Yo, V1, V3,31,
[IpombIlIIIEeHHOCTH 1P OK 02, OK 04, OK 09
K 1.1, [IK 1.3,
IIK 3.1, I[IK 3.3
JIP 8, JIP 11, JIP 13,
JIP 18, JIP 24
Tema 2.18. Jleranu, YO, V1, V3,31,
MEXaHU3MbI 1P OK 02, OK 04, OK 09
K 1.1, [IK 1.3,
IIK 3.1, I[IK 3.3
JIP 8, JIP 11, JIP 13,
JIP 18, JIP 24
Tema 2.19. Yo, V1,V¥2,V3,3l1,
O6opynoBanwue, 1P OK 02, OK 04, OK 09
pabota IIK 1.1, IIK 1.3,
IIK 3.1, IIK 3.3
JIP 8, JIP 11, JIP 13,
JIP 18, JIP 24
Tema 2.20. Yo, V1,V¥2,V3, 31,




WNHucrpykuuu,
PYKOBOJCTBa

11P

OK 02, OK 04,0K 09
IK 1.1, I[IK 1.3,
IK 3.1, I1K 3.3

JIP 8, JIP 11, JIP 13,

JIP 18, JIP 24




3.2 Konndukarop o1leHOYHBIX CPeICTB

QOYyHKIIMOHAIBHBINA MPU3HAK
OLICHOYHOTO CpecTBa (TUIT
KOHTPOJILHOTO 33JIaHus)

Kon ontenounoro cpeacrtaa

YcTHBIM onpoc YO
KontponbHas pabota Ne n KP Non
ITpoBepounas pabora ITP
TectupoBaHue T
3ananus 115 caMocToATeNnbHOM pabotel | CP

JuddepentmpoBanHblii 3a4ET

13




TECTOBBIE 3AJIAHUSA
JJIS IPOBEIEHU S TUATHOCTHYECKOH KOHTPOJILHOM PadoThI

Kontpomupyemsie kommereniuu OK 02, OK 04, OK 09

MeToanuyecKHe YKA3AHUS K TECTY:

Pazpabotano 2 BapuaHTa 3aaHUM.

3aganuii B Bapuante: 20.

Bce BapuaHThl pabOTHI PaBHOIICHHBI.

Bpemst Ha OATOTOBKY U BBIMOJIHEHUE pabOThI: 40 MUHYT.

Kpurepuu oneHku:

3a KaxJIbIi TpaBUWIbHBIN OTBET HAUMUCsieTcs 1 Oa.
«Otamuno» — 19-20 6amioB

«Xopomo» — 17-18 6anos
«YnoBiaerBopurTeabHo» — 13-16 6aioB
«HeynoBiaerBopureabno» — 0-12 6amnos

Kirouu K Tectam:

BapuanT 1. Bapuanr 2.
1. 1)c, 2)b 1. a
2. d 2. 1)c, 2)b, 3)b
3.d 3. a
4. c 4. 1)b, 2)a, 3)b
5. Da, 2)b 5. 1)b, 2)b
6. 1)a, 2)b 6. 1)c, 2)b
7. 1)c, 2)d 7. 1)a, 2)b
8. 1)a, 2)a 8. d
9. 1)b, 2)d 9. b
10. 3 10. 1)b, 2)a
11.1) b, 2)a 11.bookcase
12.expensive 12.comfortable

13.butter-fly



Bapuant 1

1. Bribepure npaBuibHy0 Gopmy riaaroina “to be”:
1) I... in the 11" grade.
a) Is
b) are
C) am
d) were
2) He ... at the theatre yesterday.
a) Is
b) was
c) will be
d) were

2. YKaxuTe npeJIoKEHHE, B KOTOPOM ri1arof “to be” siBiiseTcst BCmoMoraTeibHbIM:
a) She was sixteen last year.
b) The delegation is to come on Monday.
c) Mother is at home.
d) What are you doing?

3. BribepuTte mpaBuiabHYyI0 opMmy riarosna “to have™:
Mr.Smith stayed at his office very late because he ... a lot of work.
a) has
b) have
c) will have
d) had

4. YKaxuTe NMpejioKeHne, B KOTOPOM Tjiaroi “to have” sBiseTcst MoIaIbHbBIM:
a) We shall have a party tomorrow.
b) We have invited our friends.
c) We’ll have to prepare for the party.
d) I hope we’ll have a good time.

5. YkaxuTe nmpaBUIbHbIE BAPUAHTHI IEPEBOJIA!
1) The flowers are in the vase.
a) B Ba3e 1BeETHI.
b) IIBeTsI B Base.
2) There is no telephone in the room.
a) TenedoHa HET B KOMHATE.
b) B xomHare HeT TenedoHa.

6. TlonGepuTe SKBUBAJIEHTHI B @aHTIIUHCKOM SI3BIKE, COOTBETCTBYIOIIHE PYCCKOMY:



1) /Ieepb omkpuinace u eowia 0eeouKa.

2) /leepv omkpuinace u 0esouka souLna.
a) The door opened and a girl came in.
b) The door opened and the girl came in.

7. BpiOepute Hy)KHOE MECTOMMEHHE:
1) I invited my friend to ... place.
a) me
b) his
c) my
d) mine
2) It’s easy, you can do it... .
a) you
b) your
C) yours
d) yourself

8. BriOepure npaBuiibHy10 (OpPMY CYIIECTBUTEIHHOTO:
1) The ... comes every morning.
a) postman
b) postmen
2) How many ... high is this house?
a) feet
b) foot

9. VkaxuTe, Kakoe CIOBO MOXHO YMOTPEOUTh BMECTO MOMYEPKHYTOTO TaK, YTOOBI
OOIIMI CMBICIT IPEITIOKCHUS HE U3MEHUJICS?
1) We usually drink much water in hot weather.
a) few
b) a lot of
C) many
d) little
2) This text is easy, there are not many new words in it.
a) little
b) not much
c) alot of
d) few

10.Ykaxxute npeasioxkeHrne, B KOTOPOM YUCITUTEIBHOE SBIISCTCS MOPSAKOBBIM:
1) There are 300 pages in the book.
2) He was born in 1980.
3) School year begins on the 1* of September.



4) Room 5 is empty.

11.TTonGepute caoBO, OJIU3KOE MO 3HAUYCHUIO K MOTYEPKHYTOMY:
1) We do English at school.
a) work
b) learn
c) teach
d) know
2) She spoke to her English teacher after classes.
a) talked
b) said
c) told
d) discussed

12.113 cnenyromieil Tpymmbsl CIOB OTMETBTE TO, KOTOPOE HE HMMEET K OCTaJIbHBIM
HHUKAKOI'o OTHOIIICHUA .
weather, season, rain, cloudy, expensive, forecast, hot, cold

13.0HpeI[eJII/ITe, KaKOC H3 CJIOB HC ABJIICTCA IIPOAYKTOM ITUTAHUAL
butter, cream, flour, tea, orange, cucumber, fish, sausage, beans, chicken, ham,
hot dogs, chips, butter-fly, berries, jam, pine-apple

Bapuant 2

1. Vkaxute mnpemioxKeHue, B KOTOPOM OKOHYaHUE “‘-S” SBISIETCS IOKa3aTesleM
IMPUTAKATCIIBHOT'O IIaACXKa:
a) My mother’s friend lives not far from her.
b) She reads a lot.
c) The car’s stopped.
d) The Browns are meneighbours.

2. Bribepute npaBUIIBLHBIN MPEJIOT:

1) Let’s meet ... 6 o’clock.
a) in
b) on
c) at

2) My brother works ... school.
a) to
b) at
c) in

3) Go ... the room and make yourself comfortable.



a) out of
b) into
c) from

3. Bribepure npaBuibHOE MECTOMMEHHE:
There is ... place like home.
a) no
b) none
c) nothing
d) nobody

4. BriObepuTte npaBUIbLHBIN BapUaHT:
1) He speaks English ... .
a) good
b) well
2) His English is very ... .
a) good
b) well
3) Ifeel....
a) badly
b) bad

5. OTMeTbhTe NMpaBUJIbHBIN BapUAHT:

1) The Volga is longer ... the Thames.
a) as
b) than
c) from

2) She is the ... beautiful girl in our class.
a) more
b) most
C) much

6. ITogOGepuTe COOTBETCTBUE B PYCCKOM:
1) The more we learn the more we know.
a) MbI MHOTO Y4HM, MHOTO 3HAEM.
b) MeI Oosibllie M3ydaeM, YeM 3HACM.
C) Yem OoJibIlie MbI yU4UM, T€M OOJIBIIIC MbI 3HACM.
2) The film is less interesting than novel.
a) ®@uiIbM TaKOM K€ MHTEPECHBIN KaK pOMaH.
b) ®unbM MeHEee HHTEPECHBIH, YeM POMaH.
C) Poman menee uHTEpECHBIH, UeM (DUITBM.



/. BriOepurenpaBuibHyO(pOpMyTIIarosua:
1) We ... five days a week.
a) work
b) works
c) are working
2) She ... in the suburbs of Moscow.
a) live
b) lives
c) is living

8. Ompenenure, B KAKOM U3 IPEIOKCHHH I1aroi “tobe” sBisieTcss MOIaIbHbIM:
a) She is a secretary.
b) She is in the office now.
c) She is working.
d) She is to start work at 9 tomorrow.

9. Omnpenenute, B KAKOM M3 MPEUIOKECHNN T1aroi “to have” smisercs MogaIbHbIM:
a) She has a lot of work today.
b) She has to do a lot of work today.
¢) She has done a lot of work today.

10.Bri6epuTe npaBUIIbHBINA MOJANBHBIN TIArOJI:
1) You feel bad, you ... see a doctor.
a) needn’t
b) should
C) can
2) I...walk, there is a bus going there.
a) needn’t
b) mustn’t
C) can’t

11.B cnepnyromieil rpyrmme BbIOEpUTE TO, KOTOPOE HE MUMEET HUKAKOrO OTHOUIEHUS K
OCTaJIbHBIM:
by train, by plane, by car, platform, compartment, to book, suitcase, wonderful,
nature, bookcase, luggage

12.BoibepuTe cioBO, KOTOPOE HE MOXKET OTHOCUTBCS K OMHCAHUIO YeJIOBEKa:

tall, bright, beautiful, merry, sad, intelligent, pretty, slim, fat, dark-eyed, stupid, grey-
hared, comfortable, old, wise



INPOBEPOYHAS PABOTA
no temaMm 1.1. Onucanme Jgroae: apyseil, poOaAHbIX U OJM3KHUX U T.J. (BHEIIHOCTD,
XapakKTep, JUYHOCTHbIE KayecTBa), 1.2. Me:KIMYHOCTHbIE OTHOILLIEHUS 10MA,
B y4eOHOM 3aBe/leHUH, HA padoTe
(«/ImuHBIE U MPUTSEKATEILHbIE MeCTOMMEeHUs», «[J1arosanl tobe u tohavey,
«APTHKJIBY)

KonTtpompyemsie komnerenuun OK 02, OK 04, OK 09

MeToan4ecKue VKA3aHusd K MPOBEPOYHOH PadoTe

Jannast paboTa MOKeT OBbITh KCIIOJIb30BaHA HA dTare MOBTOPEHHUS U KOHTPOJIA 3HAHMM.
Pa3zpabotano 2 BapuaHTa 3agaHuii. Bce BapuanThl pabOThI paBHOLICHHBI.

Pabota paccuntana Ha 45 MUHYT.

Kputepumn oueHKn:

Kaxx/toe BepHO BBITIOJIHEHHOE TIPEIJIOKEHUE PUHOCUT 1 Oaiw.
«OTtanuno» — 23-25 6amos;

«Xopomo» — 19-22 6anna;

«Y10BJIETBOPUTEILHO» -14-18 6anos;

«HeynoBiaerBopuTeabHO» — MeHee 13 Oamios.

Bapuanr 1
APPEARANCE

1. 3amMeHuTe CJIOBA HA AHTOHUMBI:
1) She is tall.

2) His chin is round.

3) Our daughter’s hair is brown.

4) The boy has blue eyes.

5) The clown has a straight nose.

2. TOMOJIHUTE MPeNJI0KeHNsI:

1) Mr Smith has on his face.
2) John’s hair is and
3) The woman in white was and

4) His complexion was

5) My grandmother has




3. CKa)KUTe TO ’Ke caMoe, UCIOJIb3ysl CHHOHUMHYHYIO JIEKCUKY U Ipyrue
rpaMMaTu4ecKkue CTPYKTYypBhbI:

1) Her nose is turned-up.

2) Their faces were pale.

3) You have a thin face.

4) His smooth hair was golden.

5) Your figure is not plump.

ARTICLE
4. IlocraBbTe BMECTO MNPONMYCKA  HY/KHbIi  apTUKJbL  (OmpeaeseHHbIH,
HeolnpeaeJeHHbIH WM HYJIeBOM).
1) The students are writing ... test. ... test consists of five tasks.
2) Have you ... calculator? — No, I haven’t.
3) My ... granny often tells us ... interesting stories from her ... life.
4) Mr. Grey is ... engineer.
5) Hi, waiter! Give me ... cup of coffee and ... bill, please!

6) ... teacher asked me many ... questions. ... questions were difficult.
7) Johnny has 2 grandmothers and ... grandfather.
8) Where is ... bus-stop? — ... nearest bus-stop is at the railway station.
9) When my... father was ... young man, he was ... attractive.
10) [ know ... person, who is in this magazine.
Bapuanr 2
APPEARANCE

3aMECHUTE CJ1I0BA HA AaHTOHUMBI:
We are skinny.

Her nose is straight.

Her son’s eyes are blue.

The girl has brown hair.

The actor has a round chin.

AOMOJIHUTE NMPEATOKCHUS .

Mrs Smith has on his face.
Mary’s hair 1s and
The man in black was and

Her complexion was

My daughter is




3. CKa’KHTe TO JKe camMoe, HCNO0JIL3Yyd CHHOHMMHUYHYIO JIEKCHKY U Apyrue
rpaMMaTu4ecKue CTPYKTYypBhbI:

1)  Theirson is tall.

2)  Her complexion was dark.

3) | have wavy blond hair.

4)  He has dark spectacles.

5)  He has aturned-up nose.

ARTICLE
4. TlocraBbTe BMECTO TMPONYCKA HYKHBI apTUKJIb  (ONpeeseHHbI,
HeolnpeaeJeHHbIH WM HYJIeBOM).
1)  Have you ... player? — No, I haven’t.

2)  The workers are building ... house. ... house is four-stored.
3)  Hi, waiter! Give me ... glass of mineral water and ... bill, please!
4) ... doctor asked me many ... questions. ... questions were important.

5)  Jacky has 3 sisters and ... cousin.

6) Iknow ... man, who is in this black car.

7) My ... uncle often sings us ... funny songs from his ... childhood.
8)  When my... mother was ... young girl, she was ... very nice.

9)  Mrs. Brown is ... manager.

Where is ... metro-station? — ... nearest station is at the zoo.

INPOBEPOYHAS PABOTA
no teme 2.1. IloBcetHeBHAS sKM3Hb, YCJIOBUSA JKU3HH,
Y4eOHBblii 1eHb, BLIXOJHOI 1eHb
(«IIpensiorm»)

Kontpompyemsie komnerennun OK 02, OK 04, OK 09

MeToan4ecKue VKA3aHusd K MPOBEePOYHOU pPadoTe

JanHast paboTa MOXET ObITh MCIOJB30BAHA HA 3Tare MOBTOPEHUS M KOHTPOJIA 3HAHMIA.
Pa3pabotano 2 BapuaHnTa 3agaHuii. Bce BapuanThl pabOThI paBHOLICHHBI.

PaboTa paccuurtana Ha 45 MUHYT.

Kputepuu onenku:

«Oranano» — 50-45 6amios;

«Xopomo» — 44-34 6anna;

«YnoBiaerBoputebHo» — 33-20 6anios;

«HeynoBJieTBopuTe1bHO» — MeHee 20 6aioB.
Bapmuanr 1

I. Translate in to English (6 6aa10B — 1 6ajJ 3a KaK/Ablil NPABUJIbHbIN 0TBET):

1. ymbIBaTBhCS



2. 1enaTh YTPEHHIOKO 3apsIKy
3. mpuyYechIBaTHCSA

4. 3aBTpaKaTh

5. TOKUTHCS CNATh

6. 3aHATHS HAUUHAIOTCS B 9 4acoB.

Il. Translate in to English (14 6anx10B — 2 6aJu1a 32 Ka)K10€ MPABWILHOE MPe/LI0KeHne):

Mens 30ByT AHHa. Mue 17. Sl okoHumia mkoiy B npouuioM roay. Cedyac si CTyJeHTKa-
NEPBOKYpPCHUIIA B TEXHUKYyMe. MHe TpeOyeTcs 2-3 yaca, 4ToObl IPUTOTOBUTH YPOKH. B 1aHHBII
MOMEHT 5 TOTOBJIIOCH K JI0KJIay (toareport) B ynTaabHOM 3aje.

Ceituac Mbl OYEHBb 3aHATHI, TAK KaK CEMECTp 3aKOHUEH M Yepe3 HEACNI0 Mbl OyaeM caaBaTh
SK3aMeEH.

I11. Complete the sentences with time expressions (12 6aaa0B — 2 6ajjga 3a KamJAblii
NPABHJILHLIA OTBET):

1. - Are you going to look for a new job? - No, I'm staying where | am for the time ... .

My dad had never been to the stadium, but now he's bought a season ticket, he is ... for
lost time.

I ... of time in the exam — I'd only done half of it when the teacher told us to stop writing.

| spent the whole morning cleaning the windows and now it's raining. I ... time.

- Do you really think the factory will shut down? - Yes, I do. It's just a ... of time.

- Were you late for the wedding? I didn't see you there. - Not at all! We got to the church
...time ... .

A

o0k w

IV. Fill in the gaps with suitable prepositions (18 6ajg0B — 1 6ajJ_3a KaKJblii
NPABUJbHBLIH OTBET):

Alot ... people go ... Brighton ... summer.

Give me a cup ... tea, please.

I only see my siblings ... time ... time as they live a long way away.
Mary gets letters ... her sister every week.

They often write ... us.

... the evening, one of the boys cooks a meal.

My mother usually comes home ... 6 o’clock.

He goes ... the hospital ... bus.

... Thursdays and Fridays he works ... home.

10.Karen is very punctual. She's always ... time.

11.He will leave school ... June.

12.We got home very late. ... the time we arrived it was dark.
13.You must admit your mother's a bit annoying ... times.

CoNoakrwWNE



Bapuanr 2

I. Translate in to English (6 6ama0B — 1 6aJ1J1 3a KaK/JAblii NPaBHJIbHbBII 0TBET):

1. 9uCTUTH 3yOBI

2. 3aIpaBiATh KPOBAThH
3. obenaTh B CTOJIOBOM
4. BcTaBaTh B 7 4acoB
5. oneBaTbcs

6. IpUHAMATBH YL

Il. Translate in to English (14 6ajaioB — 2 6ajJia 32 Kaxk/I0€ NPABHJIbHOE MPeII0KEeHHE):

Mens 30Byr Tom. MHe 18. B mpouwiom roay si OKOHYMJI IIKOJY W TEHEPb sI CTYIEHT-
nepBOKypcHUK. S sxuBy B obmexutun (hostel) u e3xy B TeXHUKYM Ha aBTOOYyCE.

OObIYHO y Hac 2 JEKUUU U 2 TPAKTUKU B AeHb. MHe Tpebyercs 2-3 yaca, 4TOOBI MPUTOTOBUTH
ypoku. Ceifuac s1 y4y UCTOpPHIO, TaK KaKk MbI cJjaeM 3adet (acredit) mo Heit 3aBTpa.

I11. Complete the sentences with time expressions (12 6aaa0B — 2 6ajjga 3a KaJblii
NpaBUJIbHBII OTBET):

- Why are you so bored? - I've got too much time ... .

Mum told me off for failing my exams. She ... me a really ... time.

- Why can't | stay any longer? - Time's ... . Visitors have to leave at 8 p.m.

Alex has basketball training every day and also at weekends. Basketball ... all his time.
Kate has so much to do that she can't ... her time to see her friends.

- Why don't you want Andy to come? - Because he spends the ... time talking about
himself!

ok owndE

IV. Fill in the gaps with suitable prepositions (18 6ajg0oB — 1 6ajJ_3a KaKJblii
NPABUJbHBLIH OTBET):

1) 1 know the shop which is sometimes open ... Sundays.

2) He and his wife Wendy live ... Central London.

3) Ialways leave the house ... nine.

4) He worked ... a technical college.

5) My friend was born ... the 29" ... February.

6) | didn’t have much work to do, but I felt very tired ... the afternoon.
7) It’s very convenient to go ... country ... car.

8) Ialways begin swimming ... May.

9) Usually we go ... the mountains ... winter.

10) Could I speak ... Mr. Davies, please?



11) There's some sugar ... the shelf ... the cupboard.
12) Sorry I couldn't answer my phone when you rang. I was ... a meeting ... the time.
13) You weren't even born when The Beatles were famous. They were way ... your time.

INPOBEPOYHAS PABOTA
no Teme 2.2. 310poBbe, CIIOPT, MPABHUJIA 3J0POBOI0 00pa3a ;KM3HH
(«Bomnpochl», «Bpemena rpymmsl Indefinitex)

Kontpomupyemsie komnerenuun OK 02, OK 04, OK 09

MeToauuecKue YKA3aHUs K IPOBEPOYHOM DﬂﬁOTe:

I[aHHa}I pa60Ta MOJKET OBITH HCITOJIb30BaHa Ha dTale IMOBTOPCHUA W KOHTPOJIA 3HAHUU.

Pa3zpabotano 2 BapuanTa 3agaHuii. Bce BapuaHThl pabOThI paBHOLICHHBI.
Pabora paccuutana Ha 45 MUHYT.

Kputepun oueHKn:

«OTJIMYHO» — BEPHO BBIMNOJHEHBI BCE 5 3a]aHUI;

«X0po1I0» — BEPHO BBINOJHEHBI 4 3aJaHUs U3 J;
«Y10BJIETBOPUTEJIbHO)» — BEPHO BBIIIOJIHEHBI 3 3aaHUs U3 5;
«HeyaoBJ1eTBOPUTEIBHO» — BEPHO BBIIIOJIHEHO MEHEE 3 3a1aHUM U3 5.

Bapmuanr 1
SPORTS IN THE USA

American people are fond of such sports and activities as bicycling, fishing, jogging,
gymnastics, swimming, tennis, marathons, bowling, archery, skiing, skating and badminton.
But the four major American sports are hockey, baseball, football and basketball.

The variety and size of the country explain the large choice of sports in America, its
different climates and the people's love of competitions of any type help to develop different
sports. In addition, public sports facilities are always available for great number for
participants.

American schools and colleges use sports activities as a way of teaching social values.
The school offers its students a great variety of sports, including wrestling, tennis and golf.
And this explains why Americans have traditionally success in many of these sports. As a
result, being intelligent and being good in sports are an ideal. There are many colleges in this
country, which have excellent academic reputation and are also good in sports.

At present professional sportsmen try to get a good education, that allows them to find
good jobs, when their playing days are over.

The most recent unusual sport, that first reaches popularity in the USA, is triathlon. It
includes swimming, bicycle racing and long-distance running. Everyone in America can
participate in sports activities.

1. Find Russian equivalents:

1) ajogging

2) an archery

3) competitions of any type

4) social values

5) agreat variety

6) being intelligent and being good in sports are an ideal



7)

1)
2)
3)
4)
5)
6)
7)

1)
2)
3)

1)
2)
3)
4)
5)
6)
7)

the most recent unusual sport

Find English Equivalents:

4 rIaBHBIX aMEPUKAHCKUX BUJIA CIIOPTA
T000Bb HACEIICHUS

K TOMY k€ (B100aBOK)

crocob o0yueHus

OTJIMYHAs aKaJeMUYecKasi permyTarus
KOTJIa 3aKaHYMBACTCS CIIOPTUBHAS Kapbhepa
PUHUMATh Y9acTHE

Answer my question (in the Russian language):
What is sport for this country?

Put 5 questions to the underlined sentence.

Find in the text and write out:

sentences with the verb to be in the 3. p.sg. (Present Indefinite Tense)
sentences with the verb to have in the 3. p.pl. (Present Indefinite Tense)
3 verbs — in Present Indefinite, define the form.

Bapuanr 2
SPORTS IN BRITAIN

Sports play an important role in the life of the English people. Such national British sports
as football, golf, cricket, table tennis, lawn tennis, steeplechase, racing, darts are popular among
the British. They are proud that many sports originated in their country and then spread
throughout the world.

Football, the most popular game in the world, is of two kinds in Britain: association
football (soccer) and rugby. Soccer, played almost in all countries, remains one of the most
popular games in Great Britain. Rugby football originated at Rugby public school. In this game
players carry the ball. Two teams of 15 men play rugby with an oval ball.

Golf, one of the popular sports in Britain, is from Scotland.

Englishmen are fond of cricket. Cricket is popular in schools, colleges, universities. Test
matches with other countries take place regularly.

Table tennis is from England, it was invented in 1880. But the British players are not lucky
in tennis international championships.

Everyone in the world knows Wimbledon as the centre of lawn tennis. Millions of people
watch the Championships on TV live and at full length.

Steeplechase, a cross country running, has a great popularity in European countries. The
first cross country race was in 1837.

Englishmen like all kinds of racing. Horse-racing, motor-car racing, boat-racing, dog-
racing, donkey-racing are very popular in England. The most famous boat race in England is
between Oxford and Cambridge. The first boat race was in 1820 and it takes place almost every
spring since 1836. A lot of people come to watch it.

Find Russian equivalents:
a soccer

throughout the world
public school

are fond of cricket
players are not lucky

at full length

the first boat race



2. Find English Equivalents:

1) GOJBIION TEHHHC

2) ocTaeTcs OJJHOM U3 CaMbIX TOMYJISIPHBIX UTP
3) s3apoaumics

4) perynasipHO IPOXOJST

5) B npsiMoM 3dupe

6) Oer ¢ NpenATCTBUIMHU

7) BCe BUIBI

3. Answer my question (in the Russian language):
What is sport for this country?

4. Put 5 questions to the text.
5. Find in the text and write out:
1) sentences with the verb to be in the 3. p.sg. (Present Indefinite Tense)

2) sentences with the verb to be in the 3. p.pl. (Present Indefinite Tense)
3) 3 verbs — in Present Indefinite, define the form.

IMMPOBEPOYHAS PABOTA
no teme 2.3. I'opox, AepeBHs, UHPPACTPYKTYpa
(«Bpemena rpynmsl Indefinite», «CTpykTypa BonpocoB»)

Kontponupyemsie komnerennuu OK 02, OK 04, OK 09

MeToand4ecKHe VKA3aHusd K MPOBEPOYHON PadoTe

JlanHast paboTa MOXeT ObITh MCIOJB30BAHA HA 3TArle MOBTOPEHUS M KOHTPOJIA 3HAHMA.
Pa3paborano 2 BapuanTa 3aanuil. Bce BapuaHThl paboThl paBHOLICHHBI.

Pabota paccuutana Ha 40 MUHYT.

Kpurepuu oneHku:

«OTau4HO» - BEINOJHEHO BEpHO 85-100% 3ananuii;
«Xopomo» - BINMOJHEHO BepHO 70-85 % 3ananuii;
«Y10BJIETBOPUTEIBbHO» - BBINOJHEHO BepHO 55-70% 3amaHuif;

«HeyaoBJ1eTBOPUTEJIBHO» - BBIIIOJIHEHO BEPHO MeHee 55% 3anaHuid.

Bapuanr 1

1. Find sentences: a) in the Present Indefinite Tense;
b) in the Past indefinite Tense;
c) in the Future Indefinite Tense:
1. My friends study at the university.



2. Did your parents work at a big building firm in the 1990s?

3. She never eats chocolate.

4. Tom will not live with his parents.

5. I shall miss classes because of my illness next week.

6. Sometimes her father spends a whole night at work, preparing his reports.
7. The professor knew several foreign languages, as he was young.

8. Will the new project bring many new ideas of life in the future?

9. My friend’s children usually ask many questions.

10. Do you always like to listen to the latest news on the radio?

. Open the brackets:

1. | (to think) about this information next week.

2. According to the forecast it (to be) raining tomorrow.
3. We (to come) to see you last Monday.

4.1 (to prepare) to my examinations in the Math’s last week.
5. You (to show) me your new picture tomorrow?

6. Mr. Smith (to pay) the bill?

7. The friends (not to go) to the cinema yesterday.

8. His brother (to work) as the manager at the bank.

9. The cows often (to eat) cabbages.

10. The planes (to fly) over our town every day.

. Put the possible questions:
Yesterday Mrs. Johnson bought a new hat in the shop at the corner.

Bapuanr 2

. Find sentences: a) in the Present Indefinite Tense;
b) in the Past indefinite Tense;
¢) in the Future Indefinite Tense:
. Her friends work at the new trading firm.
. Did Mr. X. work at a big factory in the 1980s?
. My daughter never eats ice-cream.
. Jack will not finish his study.
. I made a tour around the Europe last year.
. Sometimes her father tells us funny stories from his childhood.
. The actress had many admirers, as she was young.
. Will the new device work well in the future?
. According to the forecast it will rain tomorrow.
10. Did the inventor make the necessary things?

© 0o N Ol W E



2. Open the brackets:
1. He (to work) at this project next week.
2.Lectures (to last) for two hours last Monday.
3 Jane (to prepare) for her examinations in Physics next week.
4. Yuri Dolgoruky (to found) Moscow in the 12" century.
5. You (to fly) to Kazan with me next month?
6. | always (to change) my money from roubles to dollars abroad.
7. The secretary (to type) a letter two days ago.
8. The chief (to speak) to New York over telephone?
9. Mr. Brick (to go) fishing next Monday.
10. My grandfather (to be) an engineer at the factory.

3. Put all the possible questions:

Every Wednesday Kate goes to the cinema to watch the latest movie.

TECTOBBIE 3AJIAHUSA
no temam 2.4. locyr,2.5. HoBoctu, cpeacrsa MaccoBoii uHGopMannu
(«Continuous», «kMoaajibHbIE IJ1aroJibl»)

KonTtpompyemsie komnerennun OK 02, OK 04, OK 09

MeToauueckue YKa3aHUs K TeCTy

Pazpabotano 2 BapuaHTa 3aJjaHUM.

3aganuii B Bapuante: 20.

Bce BapuaHThl pabOThI paBHOIICHHBI.

Bpewmst Ha OATOTOBKY ¥ BBIMOJTHEHUE paOOThI: 40 MUHYT.

Kpurepuu oneHku:

3a KaxJIbIi TpaBUIbHBINM OTBET HauucsieTcs: 1 6as.
«OTtanuno» — 19-20 6amios

«Xopomo» — 17-18 6annos
«Y10BJIETBOPUTEJIBbHO» — 13-16 O6aitoB
«HeypnoBiaersopurenbuo» — 0-12 6aninos

Kiaoum k Tecty

Bapuanr 1.
1. b 11.b



2. C 12.a/c
3. b 13.c
4. b 14.b
5 ¢ 15.a
6. C 16.c
7. a 17.c
8. C 18.c
9. c 19.a
10.b 20.b/c
Bapuanr 2
1 a 11.a
2. a 12.b/c
3. ¢C 13. b/c
4. b 14.b
5. ¢ 15.a
6. C 16.c
7. a 17.c
8. C 18.c
9. b 19.c
10.b 20.c

Bapuant 1.
Bri0epure 01MH WM HECKOJIbKO MPABUJIbHBIX OTBETOB:

1. Mr. Green ... speaking with London over phone now.

A are B is C does
2. ... you doing your project the whole evening yesterday?
A are B is C were

w

. 1 ... preparing for my exam in mathematics from morning till evening tomorrow.
A am B shall be C was

4. Yesterday Tom ... to the cinema to watch the new film about superheroes.
A goes B went C was going

o1

. What is your mother ... right now in this shop?



A do B does C doing

6. The students ... finish their study in 2 years.
A will be B will do C will

7. Tomorrow morning Mrs. Black ... the design project of the new flat with her
husband.
A will discuss B isdiscuss C does discuss

8. When the mother came in, her children were ... their goldfish with bread.
A feed B feeded C feeding

9. Jack ... along the river when the boat passed.
A goes B isgoing C was going

10.Listen! Our neighbour ... his favourite song right now!
A are singing B issinging C sings

11.... I smoke in the tram?
A can B may C must

12.1 think, the doctor ... help you with your problem.
A can B may C must

13.If you are in a hurry, you ... not travel by train.
A can B may C must

14.1t is a lawn! You ... not park your car here!
A can B may C must

15.Look! This little child ... do sums well!
A can B may C must

16.The new house is not ready, that’s why the workers ... to work without holidays.
A areable B are allowed C have



17.Tomorrow he has his first concert. I think, he ... play piano at the moment.
A have B may C must

18.You ... do your work well, if you want to be a good specialist.
A can B will be able to C must

19.Ted had a high temperature. He ... stay in bed.
A had to B haveto C must

20.The doctor says that he ... go very soon after this operation.
A will have to B will be able to C will be allowed to

Bapmanr 2.
Bri0epuTte 01MH WIN HECKOJIbKO MPABUIbHBIX O0TBETOB:

1. Mrs. Black ... speaking with her aunt over phone now.

A s B are C does
2. ... he doing his project the whole evening yesterday?
A was B is C were

3. I... preparing for my exam in physics from morning till evening yesterday.
A am B shall be C was

4. Yesterday Jane ... to the shop to choose the new dress for the party.
A goes B went C was going

5. What is your friend ... right now in this café?
A do B does C doing

6. The builders ... finish this house in 3 years.
A will be B willdo C will

7. Tomorrow morning Mr. Black ... the new delivery contract with his companion.



A will discuss B will be discuss C does discuss

8. When the father came in, the children were ... their dog with sausages.
A feed B feeded C feeding

9. Ted ... along the street when the tram passed.
A goes B was going C isgoing

10.Look! Our neighbour ... right now!
A are dancing B isdancing C dances

11.... I come in?
A may B can C must

12.1 think, the policeman ... help you with your problem.
A may B can C must

13.1f you are ill, you ... not go to the study!
A can B may C must

14.As he was 5, he ... ski very well.
A can B could C must

15.Listen! This little girl ... sing very well!
A can B may C must

16.The final test will be tomorrow, that’s why you ... to stay at home and prepare for it
tonight.
A are able B are allowed C have

17. Tomorrow she will go to Spain. I think, she ... pack her things at the moment.
A have to B may C must

18.1f you pass your exams, you ... go to the seaside.
A can B will be able to C will be allowed to



19.The train ... arrive at 9 p.m.
A can B may C must

20.The doctor says that we ... visit the patient very soon after this operation.
A shall have to B shall be able to C shall be allowed to

INPOBEPOYHASA PABOTA
no remam 2.4. Jlocyr, 2.6. Ilpupoaa u yejioBek (KJIUMAT, MOr0/a, IKOJIOTHA)

Kontpomupyemsie komnerenuun OK 02, OK 04, OK 09

MeToanuecKkne YKa3aHus K MIPOBEPOYHOM padoTe:

JanHast paboTa MOXET ObITh MCIOJB30BAHA HA 3TAle MOBTOPEHHS M KOHTPOJIS 3HAHUM.
Pa3pabotano 3 BapuanTa 3agaHuii. Bce BapuanThl padOThI paBHOLICHHBI.

Pabota paccuutana Ha 45 MUHYT.

Kpurepuu oneHku:

34-28 npaBUIBLHBIX OTBETOB — OLICHKA «9)
27-20 nmpaBUIIBHBIX OTBETOB — OIIEHKA «4»
19-11 npaBWIBHBIX OTBETOB — OIICHKA «3)
MeHee 11 — ornenka «2»

OTBeThI K TECTVY:

1 BapuaHT 2 BapuaHT 3 BapUaHT

l. (10 6a.710B)
l.c l.a l.a
2.2 2.C 2.C
3.cC 3.b 3.b
4.c 4.c 4.c
5.¢ 5b 5.¢C
6.b 6. a 6. a
7.b 7.b 7.a
8.b 8.a 8.a
9.a 9.c 9.c
10.b 10.a 10.b

I1. (20 6an0B)

1 environment of activity




2 Increase feature on
3 industrial sound can’t
4 pollute on of
5 harmful substances  go to the cinema comfortable
6 suffer amusing tired
7 cut laugh seat
8 disappear ordinary journey
9 pollution shows luggage
10 disaster before plane
11 after worth seeing dangerous
12 in audience accidents
13 radioactive from seasick
substances
14 protection to bycar
15 of cartoons advantage
16 Numerous opinion buy
17 ecologically educational stop
18 Greenpeace can can
19 must television abroad
20 on leisure time communicate
I11. (4 6anaa)
Present Past Continuous | Present Continuous
Continuous In Great Britain and | (Look!) Hungry
(At present) world|the USA the |passengers are
industry IS cinemas were/hurrying  to  the
polluting the selling tickets (from|refreshment  rooms
atmosphere. 8 a. m. till 9 p.m. (now).
Past Simple last year). Past Simple
(Last year) world Future Simple Hungry  passengers
industry  greatly In Great Britain and hurried to the
polluted the the USA the refreshment ~ rooms
atmosphere. cinemas will sell{(10 minutes ago).
more than  one
billion tickets (next
year).




Bapmnanr 1
I. Choose the correct answer (10 6auioB — 1 6a/i 3a KaKJIbI MPaBHILHBINA
OTBET):
1. We shall meet ... Wednesday.
a) at; b) in; c) on
2. Jane ... read books in French and Spanish.
a) can; b) may; c) must
3. Give the synonym to the word ‘long-distance bus’
a) carriage; b) tube; c) coach
4.1... areport the whole day tomorrow.

a) am writing; b) was writing; ¢) will be writing
5. This group will go ... the theatre next week.
a) in; b) from; c) to
6. Give the antonym to the verb ‘switch on’
a) turn on; b) turn off; c) turn over
7. ... bought an expensive car two months ago.

a) Whom; b) Who; ¢) What

8. ... you give me a cup of coffee, please?
a) Should; b) Could; c) Can

9. He ... to New York over telephone yesterday.
a) spoke; b) speaks; c) will speak

10. Give the synonym to the word ‘come’
a) go; b) arrive; c) leave

I1. Fill in the gaps with the appropriate words (20 6amioB — 1 6amr 3a KaK/Iblid
[IpaBWIbHBIA OTBET):

on, disaster, environment, in, protection, Greenpeace, harmful substances,
increase, must, disappear, after, numerous, cut, pollute, ecologically, radioactive
substances, pollution, suffer, of, industrial

Ecological Problems

Since ancient times Nature has served Man, being the source of his life. For
thousands of years people lived in harmony with ... (1) and it seemed to them that natural
riches were unlimited. But with the development of civilization man's interference in
nature began to ... (2).

Large cities with thousands of smoky ... (3) enterprises appear all over the world
today. The by-products of their activity ... (4) the air we breathe, the water we drink, the
land we grow grain and vegetables on.

Every year world industry pollutes the atmosphere with about 1000 million tons of
dust and other ... (5). Many cities ... (6) from smog. Vast forests are ...(7) and burn in fire.
Their disappearance upsets the oxygen balance. As a result some rare species of animals,
birds, fish and plants ... (8) forever, a number of rivers and lakes dry up.




The ... (9) of air and the world's ocean, destruction of the ozone layer is the result of
man's careless interaction with nature, a sign of the ecological crises.

The most horrible ecological ... (10) befell Ukraine and its people ... (11) the
Chernobyl tragedy ... (12) April 1986. About 18 percent of the territory of Byelaruswere
also polluted with ... (13). A great damage has been done to the agriculture, forests and
people's health. The consequences of this explosion at the atomic power-station are tragic
for the Ukrainian, Byelorussian and other nations.

Environmental ... (14) is of a universal concern. That is why serious measures to
create a system of ecological security should be taken.

Some progress has been already made in this direction. As many as 159 countries —
members ... (15) the UNO — have set up environmental protection agencies. ... (16)
conferences have been held by these agencies to discuss problems facing ... (17) poor
regions including the Aral Sea, the South Urals, Kuzbass, Donbass, Semipalatinsk and
Chernobyl.

An international environmental research centre has been set up on Lake Baikal. The
international organisation ... (18) is also doing much to preserve the environment.

But these are only the initial steps and they ... (19) be carried onward to protect nature, to

save life ... (20) the planet not only for the sake of the present but also for the future
generations.

I11. Put the sentence “Every vear world industry pollutes the atmosphere” in Present
Continuous and Past Simple (make the necessary changes) (4 6amna — 2 6Gauia 3a
KAXJ10€ ITPABUIIBHOC HDGIIJIO)KGHI/IG).




Bapuaur 2

I. Choose the correct answer (10 GamtoB — 1 Gamn 3a KaxJIbIid
IIPABUJILHBINA OTBET):
1. We take examinations ... January and June.
a) in; b) at; c) on
2. He is a doctor and he ... help you.

a) need; b) may; c) can
3. Give the antonym to the word ‘car with reserved seats’
a) carriage; b) compartment; c) taxi
4. The students ... an interesting discussion when the teacher came in.

a) was having; b) are having; c) were having

5. John goes ... school.
a) at; b) to; ¢) in
6. Give the antonym to the verb ‘pollute’
a) keep clean; b) destruct; c) protect
7. ... she get home?

a) Where does; b) When does; ¢) What do
8. You ... open the window, it is hot here.
a) may; b) need; c) can
9. He ... to the stadium to play football tomorrow.
a) went; b) goes; ¢) will go

10. Give the synonym to the word ‘litter’
a) rubbish; b) safety; c) disease

I1. Fill in the gaps with the appropriate words (20 6amios — 1 Gaur 3a
KKl OPAaBUILHBIN OTBET):

can, ordinary, before, of, leisure time, cartoons, feature, audience,
television, amusing, educational, on, worth seeing, from, laugh, sound, go to
the cinema, to, shows, opinion

Cinema

Cinema plays an important role in the life ... (1) any society. The cinema has
become part of the modern way of life. There is no denying the fact that the cinema
is an excellent vehicle of culture.

There are a lot of different kinds of films: ... (2) films, theatrical films, horror
films, thriller films, popular science films, travelogues, mystery films,
documentaries, animated cartoon films. Besides, the films may be colour or black
and white, full-length or short, ... (3) or silent, dubbed in mother tongue.



We can see films either in the cinema or on the TV. As | am often short of time, |
have practically no time for going to the cinema. For this reason I see films ... (4)
television more frequently. But sometimes I manage to ... (5). I prefer feature
films and ... (6) comedies. It’s a pity the life is so difficult nowadays and I want to
relax a little, sometimes even to ... (7). But at the same time I am fond of true-to-
life films describing the life of the ... (8) people, their feelings and problems. Such
films move me deeply, they arouse the feelings of sympathy or hatred for the
heroes. As a rule such films leave a deep and lasting impression upon me.

A modern cinema program contains a newsreel which ... (9) us pictures of
important recent developments. It is usually shown ... (10) a feature film and it’s
often ... (11). Sometimes they show animated cartoon film at seeing which the ...
(12) is in a state of excitement ...(13) the beginning ...(14) the end. Especially I like
Walt Disney’s ... (15) “Duck Tales”, or “Vinnie-the-Pooh’s Adventures”. In my
... (16) the animated cartoon films are popular both with children and
adults.Showing the ... (17) films is arranged mainly for schoolchildren and
students.

In Great Britain and the USA the cinemas (“movies” as they often call them) sell
more than one billion tickets a year. Movies are also shown on television and ...
(18) be rented or purchased as a DVD-recorder. People in these countries are
equipped with video recorders in their majority. Although people once feared that
... (19) would ruin movie industry, movie popularity has soared in recent years in
these countries. Attending movies is a relatively inexpensive ... (20) activity that is
very popular.

I11. Put the sentence “ In Great Britain and the USA the cinemas sell more than
one billion tickets a vyear.” in Past Continuous and Future Simple (make the
necessary changes) (4 6ania — 2 0aia 3a KaKI0€ MPABUILHOE MPEUIOKEHUE).




Bapmuanr 3
I. Choose the correct answer (10 OammoB — 1 Gamn 3a KaKablid
IPABWILHBIA OTBET):
1. We do not study ... summer.
a) in; b) at; c) on
2. If you see anything unusual you ... call the police.

a) can; b) need; c) should

3. Give the synonym to the word ‘subway’
a) taxi; b) underground; c) train
4. ... you buy at the shop yesterday?

a) When will; b) Where do; ¢) What did

5. We have no lectures ... Sunday.
a) in; b) at; c) on

6. Give the antonym to the verb ‘increase’
a) decrease; b) disease; c) disaster

7. Mary ... at the kitchen now.

a) is cooking; b) was cooking; c¢) will be cooking
8. He ... drink alcohol when he drives.

a) mustn’t; b) shouldn’t; c) can
9. Tom and Nick ... from 2 till 4 next Saturday.

a) were skiing; b) are skiing; c) will be skiing

10. Give the synonym to the word ‘amusing’
a) dramatic; b) funny; c) boring

I1. Fill in the gaps with the appropriate words (20 6amios — 1 6ajur 3a
Ka Kbl IPaBWILHBINA OTBET):
plane, abroad, seat, comfortable, activity, accidents, can, communicate, of,
luggage, by car, tired, buy, on, stop, can’t, advantage, dangerous, seasick,
journey

Travelling
Nowadays travelling is a popular ...(1) among people. It is very interesting to see
new places, another towns and countries. People like travelling and they travel a
lot. They can travel for pleasure or on business.

There are different methods of travelling. You can travel by plane, by ship, by train
or by car. Some people travel ...(2) foot. You can go along little lanes where the
fast car ...(3) go. You can wander through meadows, pass quite lakes and
wonderful woods. Also you can see wild animals and flowers in the forest. You
can feel the beauty ...(4) nature. But I think, it’s not a very ...(5) way of traveling,
because you can get ...(6) very quickly.



I’'m very fond of travelling and I prefer to travel by train. I think it’s very pleasant.
Especially if you have a comfortable ...(7) in a railway carriage you can have a
splendid view of the countryside. If the ...(8) is long, you can sleep and have a
good rest. Moreover, | consider, big railway stations are quite excited places. There
are crowds of people, the porters pull the ...(9) along the platforms, and hungry
passengers hurry to the refreshment rooms.

Some people prefer to travel by ...(10). | can say it is, of course, comfortable and
convenient method of travelling. And it is much quicker than any other method,
but, I think, it’s more ...(11). Moreover nowadays there are a lot of ...(12) and
plane wrecks.

For a change you can travel by ship. During such voyage you can enjoy the sea or
the ocean. It’s very exciting to watch the rise and fall of waves, to feel the fresh
wind and hear the cry of the seagulls. But everything will be pleasant on board if
you are not ...(13).

Tours ...(14) are also very popular. The main ...(15) of this method is that you are
quite independent. You don’t have to watch a timetable or ...(16) any tickets. You
can ...(17) at any place you like and see sights at a short time. And you ...(18) drive
in any direction.

| think that if you go ...(19) you should know foreign languages, because they can

help you to ...(20) with people in a foreign country, and you will feel more
comfortable.

I11. Put the sentence “Hungry passengers hurry to the refreshment rooms.” in

Past Continuous and Future Simple (make the necessary changes) (4 6auia —

2 Oaj1a 32 KKI0€ MPABWILHOE MPEIOKEHHE).

INPOBEPOYHASA PABOTA
no teme 2.7. OopazoBanue B Poccun u 3apydexom, cpeaHee
npogdeccnoHaibHOE 00pa3zoBaHue
(«MoaajbHbIE IJ1aroJibl»)

Kontponupyemsie komnerenuuu OK 02, OK 04, OK 09

MeToau4ecKHe VKA3aHUus K MPOBEPOYHON PadoTe

JlanHasi pabota MOXeT ObITh MCIOJb30BaHa Ha 3Tarle MOBTOPEHHUS M KOHTPOJIA
3Hanuil. Pazpaborano 2 BapuaHTa 3ajaHuil. Bce BapuaHThl paboThl paBHOLICHHBI.

Pabota paccuntana Ha 40 MUHYT.



Kpurepuu oneHku:

Kaxxioe 3aaHue NpruHOCUT ONPEAEIEHHOE KOJIMYECTBO OaIOB.
«Otanano» - 45-40 6amnos;

«Xopomoy - 39-34 Ganos;

«Y10BJIETBOPUTEIBHOY - 33-20 6aJ110B;

«HeynosJierBopurtebHoO» - MeHee 20.

Bapuanr 1

I. Translate in to English (6 6aa10B — 1 6aaJ 3a KakKAblii_ NPaBHJIbHBII

OTBET).

(aKyabTaTUBHBIN
y4€eOHBII rof
OCTyNaTh

3209HO

TpeOOBaTh
POBAJIUTH 3K3aMEH

SoghkwdE

I1. Fill in the gaps using the following words (12 6aaaoB — 1 6aJi 3a
KaK/Ablii IPABUJIbHBIA OTBET):
Certificate, free, compulsory, kindergarten, subject, paid, leave, exams, primary,

secondary, enter, specializing.

Education in Russia is 1) ... . There are two types of education: 2)... and 3)...
. Children start their education in nursery school or 4)... at the age of 3. At the age
of 6 or 7 they attend 5)... school. Then at the age of 10 they go to 6)... school.
There children have different teachers in each 7)... .At the end of the 9th grade
they take 8)... and continue their education in the secondary school. Some children
9)... their former schools to continue studies in some schools 10)...in some
subjects: English, Math, Art and others. Before leaving school they take final
exams and get the 11)... of Secondary education. After that they can 12)...
universities, colleges, military schools or academies.

I11. Make up sentence (2 6aJijia 3a NpaBUJIbHBIH OTBET):
private / there / some / England / in / schools / are

IV. Fill in prepositions where necessary (3 6amaa — 1 6ajja 3a
KaK/IbIi NPAaBUJbLHBLIA OTBET):.

1. | started school the age of seven.

A) in B) at C) after




2. Every pupil learns one foreign languages.
A) about B) from C) of

3. the first of September we get acquainted ___ our teachers.

A) at, on B) on, with C) on, by

V. Choose the suitable word to fill in (2 6aaaa — 1 6ayJ 3a KaKAbIH

NPABUJBHBLIN OTBET):

1. The girls and boys in England attend school at the age from 11 to
16.

A) primary B) junior C) secondary

2. Is a type of secondary school which doesn’t prepare pupils for
university.

A) grammar school B) modern school C) infant school

V1. Choose the suitable modal verb to fill in (10 6aaxaoB — 1 GaJua 3a

KAaXKIbIH NPAaBUJIbLHBLIM OTBET):
1. Jane ... read books in French and Spanish.

a) can; b) may; c¢) must

2. It was Sunday, and we ... go school.

a) had not to; b) not had to; ¢) had to not

3. ... I take your pen? — Yes, please.

a) can; b) may; ¢) must

4. ... pronounce this sound?

a) Do you can; b) Can you; ¢) You can

5. Peter ... return the book to the library.

a) can; b) may; ¢) must

6. He ... drink alcohol when he drives.

a) mustn’t; b) should; c) can

7. You ... not have bought this meat: we have everything for dinner.
a) must; b) should; c) need

8. If you see anything unusual you ... call the police.
a) can; b) need; c) should

9. Let’s wait. They ... still come.

a) can; b) may; ¢) must



10. Her son is only seven, but he ... play tennis.

a) can; b) may; c¢) must

VI1Il. Make up a scheme of the education in the UK (10 6aa0B).

Bapuanr 2

I. Translate in to English (6 6axgoB — 1 0ajaa 3a Kaxiabli
NPaBUJbLHBINA OTBET):

OJIApPEHHBIN
I0JTy4aTh 3HAHUS
[IOCEIATh JIEKIUN
IOJIICPYKUBATH
IPOJI0JDKATH
00s13aTeILHBIN

ok wdE

1. Fill in the gaps using the following words (12 6aajgoB — 1 6aJj.a 3a
KaXKIbIH NPAaBUJILHBLIM OTBET):

take, state school, specialize, pass, secondary, school subjects, fail, private

schools, marks
Dan started his new schools at the age of 11. There are many kinds of schools

from this age, but the general word for them is 1) . Dan’s school is a
government school, usually called a 2) . Some parents pay to send their
children to a 3) . At first Dan will take a lot of different 4)
(history, chemistry etc.) but, after a few years, he will begin to 5) in things
he is good at and interested in. Then he will 6) some exams. If he can 7)

a number of exams with good 8) (A, B, C), it will help him to get a
good job. Of course he hopes he doesn’t 9) :

I11. Make up sentence (2 6aJijia 3a IPaBHJIbHBIH OTBET):
numbers / learn / and / how / to / them / add / they

IV. Fill in prepositions where necessary (3 6agaa — 1 6ajja_3a
KaK/blii NPaBUJbHbIH OTBET):

1. The computer classes are located __ the first floor.

A)atB)onC)in

2. English is the most widespread languages the world.
A) about B) in C) of
3. Some portraits famous writers were the wall of the office.

A) by, on B) of, in C) of, on

V. Choose the suitable word to fill in (2 6aaaa — 1 6ayJ 32 KaKABIH
NPABUJBbHBIN OTBET):
1. , , are called “core” subjects.




A) History E) Physical Education

B) Art F) Maths

C) Geography G) Science

D) English H) Music

2. Is English school for children from five to seven years old.
A) junior B) primary C) infant

V1. Choose the suitable modal verb to fill in (10 6amjg0B — 1 6ajJa 3a
KaKJAblii IPABUJIbHBIA OTBET):
1. People ... cross the street when the light is red.
a) must; b) can; c¢) need

2. ... I ask you to wait a little?
a) should; b) may; ¢) must

3. The boy ... swim very well.
a) can; b) should; ¢) may

4, I ... getup early, because I live far from here.
a) need; b) must; c) have to

5. You are ill. You ... consult a doctor.
a) may; b) should; ¢) must

6. It is cloudy. It ... be rain.
a) may; b) need; c) had to

1. You ... cross the road here.
a) not must; b) must not to; ¢c) mustn’t

8. He was late, and we ... wait.
a) have to b) had to; c) shall have to

Q. You ... read it. It’s very interesting.
a) should; b) can; c) may

10. ... speak Italian?
a) Can she; b) She can; c) Does she can

VIl. Make up a scheme of the education in the USA (10 6aaJ0B).




ITPOBEPOYHAS PABOTA
no Teme 2.8. KyJbTypHbIe M HAMOHAJIbHBIC TPAAMLMHU, KPaeBeleHue,
00bIYAH U MPA3THUKH
(«Bpemena rpynn Indefinite, Continuous & Perfect»)

Kontponupyemsie komrnerenuuu OK 02, OK 04, OK 09

MeToan4ecKne VYKa3aHus K MPOBEPOYHON PadoTe

JlanHast paboTa MOKET OBITh UCIIOJIb30BaHA Ha ATaIle KOHTPOJIS 3HAHUIA.
Pa3paborano 2 BapuaHTa 3amanuii. Bce BapraHThl pabOTHI paBHOIICHHHBI.
Pa6ora paccuntana Ha 40 MUHYT.

Kpurepuu oLieHKH:

Bce 3aJaHusA HpOBCpO‘lHOﬁ pa6OTBI ACIIATCA Ha 3 YPOBHA. OI_IGHKEI BBICTAaBJISICTCA B
3aBUCHUMOCTH OT BBI6paHHOFO YPOBHA 3aJ/laHud M OT IIPaBUJIBHOCTH €TI0
BBITTOJIHCHUA.

OTBeThI K TECTOBOM YaCTH:

BapuanT 1 Bapuant 2

b

NGO wDE
T YT O T

C 9. ¢
10.c 10.c
11.a 11.c
12.b 12.c
13.b 13.c
14.a 14.b
15.c 15.a

Bapuanr 1
”3”

Choose the correct form of the verb:

1. Jane ...just ... the letter to her parents.

a) have ...written; b) has...written; c) had...written



2. The students ... an interesting discussion when the teacher came in.
a) was having; b) are having; c) were having
3. Did you post your letter after you ... it?
a) have written; b) had written; ¢) will have written
4.1...1n our garden at 5 o’clock tomorrow.
a) was working; b) will work; c) will be working
5. She ... at the library last year.
a) worked; b) works; c¢) will work
6. Tom ... at school yesterday.
a) were; b) is; ¢) was
7. Look out. ... now?
a) It are raining; b) Is it raining; c) It rains
8. ...the news yet?
a) You have heard; b) Has you heard; c¢) Have you heard
9. ... you buy at the shop yesterday?
a) When did; b) Where do; ¢) What did
10. Tom and Nick ... from 2 till 4 next Saturday.
a) were skiing; b) are skiing; c) will be skiing
11. We ... this project by the end of this week.
a) shall not have finished; b) not had finished; c) have not finish
12.1 ... a letter at that time yesterday.
a) wrote; b) was writing; c) will be writing
13. These books ... very interesting.
a) is; b) are; c) was
14. Mary ... at the kitchen now.
a) is cooking; b) was cooking; c) will be cooking

15. ... you buy at the shop yesterday?



a) When did; b) Where do; ¢) What did

2
”4

Use the correct form of the verbs in brackets::

1. A lot of boys (to like) football. 2. Ann (to read) the newspaper at 11 o’clock
yesterday. 3. —-Why (you/to walk) so fast today? You usually (to walk) slowly,
don’t you? - My sister (to wait) for me. She (to be) angry with me when | am late.
4. They (to wait) for us in the hall at 7 p. m. tomorrow. 5. | (not/to see) Tom this
week. 6. Jane (to write) the article now. 7. They still (to read) this book. 8. My
parents (to watch) TV when | (to come) into the room yesterday. 9. | (to tell) him
this joke ten minutes ago. 10. Julia (to finish) all the housework by three o’clock
and we’ll go for a walk. 11. When | (to get) home yesterday, my sister (to make) a
pie already. 12. The phone (to ring) when | (to have) a shower.

2
”5

TranslateintoEnglish:

1. Ee cbIH mOCTyIHII B HIHCTUTYT B ITPOLUIOM roay. 2. OH enie He OTBETHII Ha Hallle
nUCbMO. 3. BeI Beib IMyTEMIECTBOBAIM B 3TO BPEMS B IIPOILIIOM rOJly, HE MpaBaa
au? 4. CTpouTenn MOCTPOST UIKOJYy K Hadaldy CeHTA0ps. 5. Uem Thl Oynels 3aHsT
3aBTpa B 1IECTh? 6. AHHA rOTOBUT yKUH ceiyac. 7. OH OyJeT caaBaTh 3K3aMEH Ha
cienyromei Hegene. 8. OH MOIIEN CIaTh MOCJIE TOT0, KaK MpoYMTal rasery. 9. I'ne
Mama?- OHa pabotaet B caay. 10. OHM OCEMIAIOT JEKIIUU KaXK/IbIN JCHb.

Bapuanr 2
’,39,

Choose the correct form of the verb:

1. Mother sat down after she ... all the work.
a) has done; b) had done; c) will have done
2. At six o’clock yesterday I ... for you at the station.
a) was waiting; b) am waiting; c) will be waiting
3. We ... early every morning.

a) does not get up; b) do not get up; c) not get up



4.1 ... areport the whole day tomorrow.
a) am writing; b) was writing; c) will be writing
5. My friend ... to me last week.
a) writed; b) wrote; c) write
6. I hope you ... all this by tomorrow.
a) will not have forgotten; b) will have not forgotten; c) not will have forgotten
7. Listen! ... in the next room?
a) Is someone singing; b) Someone is singing; c) Singing is someone
8. When I came in, the cat ... in my armchair.
a) is sleeping; b) was sleeping; c) will be sleeping
9. ... you clean your hair every day?
a) Did; b) Will; ¢) Do
10. When Mother came home, children ... already ... to bed.
a) have ... gone; b) will ... have gone; ¢) had gone
11. We ... always ready for lessons.
a) am; b) were; c) are
12. ... lived a long way from here?
a) What; b) When; c) Who
13. Kate ... the flat from 9 till 110’°clock yesterday.
a) is cleaning; b) cleaned; c) was cleaning
14. He ... breakfast now.
a) are having; b) is having; c) has
15. My friend is a writer. He ... many books.

a) has written; b) had written; ¢) have written

2
”4

Use the correct form of the verbs in brackets:




1. My sister just (to leave) for the bank. 2.We (to talk) about him when he
suddenly (to come) in. 3. It (not/often/to rain) in this part of the country.4. The
police (to stop) me on my way home last night. 5. When | woke up in the morning,
the rain already (to stop). 6.Steven (not/to learn) his lesson by tomorrow. 7. My
friend always (to tell) me the truth, but | see that she (to tell) a lie now. 8. You ever
(to be) to the United States? 9. He got there sooner than he (to expect). 10. He (to
play) tennis yesterday? 11. Jackeline (to fly) to Kenya tomorrow at this time. 12. It
(to rain) cats and dogs. Take your umbrella.

2
”5

Translate into English:

1. Auapeii 6yner xaatb Te0s Bo3iie runepmapketa B 4. 2. OHU MOHSUIH, YTO
KW3Hb OY€HBb U3MEHUIIAch. 3. S criemmni B OMOIMOTeKy, KOTrAa BCTPETUI €T0. 4.
Maiiki nepeBeieT 3TOT JOKIa K IIOHEAEIBHUKY. 5. BBI yXkKe clenaiu 31o
ynpaxxkuenue? 6. [loueMy Tbl Ha MeHs Tak cMOTpullb? 7. ['ie paboTaeT TBOsS
nBoropoaHas cectpa? 8. OH y»e Hanucal JiBa MUChbMa 3TUM yTpoMm. 9. Moit nama
YUTAET ra3eThl, YTOOBI MOIy4aTh HH(POPMAIIMIO O MOUTHYECKON *Ku3Hu. 10. Ux

TéTA noeaet B Kanagy cieayromum JeToMm.

IMPOBEPOYHASA PABOTA
mo TeMe2.9. O0mecTBeHHas KU3Hb (IIOBCEJHEBHOE MOBEACHHE,
npo¢ecCHOHAJIbHbIC HABLIKM M YMEHHUS)
(«Bpemena rpynn Indefinite, Continuous & Perfect»)

KonTtpomupyemsie komnerennmn OK 02, OK 04, OK 09

MeToanyeckue YKa3aHHUs K IPOBEPOYHOM padoTe

JanHas pabota MOXeT ObITh MCIOJIb30BaHA HA ATale 3aKPErUIeHUs JICKCUUECKOM
TEMBI.

PazpaboTtano 2 BapuanTta 3amanuii.Kaxxaplii BapuaHT COCTOMT M3 5 3amanuii.Bce
BapUaHTHI pa0OTHI PABHOIICHHBI.

PaGota paccunrana Ha 60 MUHYT.

Kpurepuu oueHku:

«OTJIMYHO» — BEPHO BBINOJHEHBI BCE S5 3aJaHUI;

«X0po1o» — BEPHO BBINOJHEHBI 4 3a1aHus U3 5;
«Y10BJIETBOPHUTEIBHO» — BEPHO BBINIOJHEHBI 3 3aaHus U3 3J;
«Heya0BJIeTBOPUTEIBLHO» — BEPHO BBITIOJIHEHO MEHEE 3 3a1aHU U3 5.




INTERNET

The Internet has already entered our ordinary life. Everybody knows that the
Internet is a global computer network, which embraces hundred of millions
of users all over the world and helps us to communicate with each other.

The history of Internet began in the United States in 1969. It was a military e
xperiment, designed to help to survive during a nuclear war, when everything
around might be polluted by radiation and it would be dangerous to get out
for any living being to get some information to anywhere. Information sent over
the Internet takes the shortest and safest path available from one computer to anoth
er.Because of this, any two computers on the net will be able to stay in touch with
each other as long as there is a single route between them. This technology was
called packet switching.

Invention of modems, special devices allowing your computer to send the in
formation through the telephone line, has opened doors to the Internet for millions
of people.

Nowadays the most popular Internet service is e-mail. Most of the people
use the network only for sending and receiving e-mail messages. They can do it
either they are at home or in the internet clubs or at work. Other popular services
are available on the Internet too. It is reading news, available on some dedicated
news servers, telnet, FTP servers, etc.

In many countries, the Internet could provide businessmen with a reliable, al
ternative to the expensive and unreliable telecommunications system its own
system of communications. Commercial users can communicate cheaply over the
Internet with the rest of the world. When they send e-mail messages, they only

have to pay for phone calls to their local service providers, not for international
calls around the world, when you pay a good deal of money.

However, there are some problems. The most important problem is security.
When you send an e-mail, your message can travel through many different
networks and computers. The data is constantly being directed towards its
destination by special computers called routers. Because of  this, itis  possible
to get into any of the computers along the route, intercept and even change the
data being sent over the Internet. But there are many encoding programs
available. These programs are not perfect and can easily be cracked.

Another big and serious problem of the net is control. Yes, there is no effecti
ve control in the Internet, because a huge amount of information circulating
through the net. It is like a tremendous library and market together. In the future,
the situation might change, but now we have what we have. It could be expressed
in two words— an anarchist’s dream.



Bapuanr 1

1. Find English equivalents:
1) oxBaThIBaeT —

2) BCE€ MOTJIO OBITH 3apakeHO -
3) BBDKHTB -

4) NOCTYITHBI B UHTEPHETE —

5) HanEKHBIH —

6) KpymHas JeHEe)KHAS CyMMa —
7) COBEpIICHHBIN —

2. Find Russian equivalents:

1) any living being —

2) asingle route between them —

3) a packet switching —

4) can easily be cracked —

5) directed towards its destination —

6) encoding programs —

7) Itis like a tremendous library and market together.

3. Answer the questions:

1) Why was the Internet designed?

2) What are modems?

3) How do most of people use the network?

4) Why is it better to use the Internet systems of communication?
5) Why is security the most important problem?

6) Why is there no effective control in the Internet?

7) How is the e-mail sent?

4. Right or false?

1) It was a military experiment, designed to help to survive and to get some
information during a nuclear war.

2) Information sent over the Internet takes the most reliable way .

3) Any two computers on the net can be connected with each other as long
as there is a single route between them.

4) The technology of sending packets was called packet switching.

5) When people send e-mail messages, they only have to pay for phone
calls to their local service providers, not for international calls around the world.

6) Itis possible to get into any of the computers along the route, intercept
and even change the data being sent over the Internet.

7) The Internet is like a tremendous library and market together.

Find the advantages and the disadvantages of the Internet.



Bapuant 2

1. Find English equivalents:

1) oOmaTecs —

2) BOCHHBIN YKCTICPUMEHT —

3) campblii KOPOTKUH 1 OE30MACHBIN My Th —
4) obecrieynTh —

5) nmoporoii —

6) 6e30macHOCTh —

7) OrpOMHOE KOJHYECTBO -

2. Find Russian equivalents:

1) a nuclear war —

2) to stay in touch —

3) some dedicated news servers —

4) with the rest of the world —

5) local service providers —

6) interceptthe data —

7) It could be expressed in two words— an anarchist’s dream.

3. Answer the questions:

1) When and where did the history of the Internet begin?
2) What is called “packet switching”?

3) What are the most popular Internet services?

4) How can the Internet help businessmen?

5) What is the most important problem of the Internet?
6) What is the Internet like?

7) What are the routers?

4. Right or false?

1) The Internet is a local computer network, which embraces hundred
of millions of users all over the world.

2) Information sent over the Internet takes the most reliable way .

3) The technology of sending packets was called packet switching.

4) Other popular service available on the Internet is reading news.

5) When people send e-mail messages, they only have to pay for phone
calls to their local service providers, not for international calls around the world.

6) When you send e-mails you must pay a good deal of money.

7) Itis possible to get into any of the computers along the route, intercept
and even change the data being sent over the Internet.

Find the advantages and the disadvantages of the Internet.



KOHTPOJIBHASA PABOTA
no teme 2.10. HayyHo-TeXHUYECKHH NPorpecc

Kontponupyemsie komrnerenuuu OK 02, OK 04, OK 09

MeToanuyecKue YKa3aHus K IPOBEPOYHOil padore

JlanHasi pabota MOeT ObITh MCIOJIb30BaHA Ha ATAale 3aKpEIUIeHUs JEKCHUYEeCKOU
TEMBL.

PazpaboTtano 2 BapmanTa 3amanuii.Kaxxaplii BapuaHT COCTOMT W3 5 3amanuii.Bce
BapUaHThI pa0OTHI PABHOIICHHEI.

Pabora paccuntana Ha 60 MUHYT.

Kpurepunu onieHKH:

«OTJIMYHO» — BEPHO BBINOJHEHBI BCE 5 3aJaHNI;

«Xo0po110» — BEpHO BBINOJHEHHI 4 3a/1aHUs U3 J;
«Y10BJIETBOPUTEJIbHO)» — BEPHO BBITIOJIHEHBI 3 3a/1aHUS U3 5;
«HeynoBJjieTBOPUTEIBLHO» — BEPHO BBITIOJHEHO MEHEE 3 3aJlaHui U3 3.

OTBeTHI K TECTOBOM YaCTH
5.Find pairs.
1.G
2.H
3.C
4.1
5A
6.J
7.B
8.E
9.D
10.F

BAPUAHT 1
SCIENCE AND TECHNOLOGY

Technology means the use of people’s inventions and discoveries to satisfy
their needs. Since people have appeared on the earth, they have had to get food,
clothes and shelter. Through the ages, people have invented tools, machines and
materials to make work easier.

Nowadays, when people speak of technology, they generally mean industrial
technology. Industrial technology began about 200 years ago with the development
of the steam engine, the growth of factories and the mass production of goods. It
influenced different aspects of people’s lives. The development of the car
influenced where people lived and worked. Radio and television changed their
leisure time. The telephone revolutionized communication.



Science has contributed much to modern technology. Science attempts to
explain how and why things happen. Technology makes things happen. But not all
technology is based on science. For example, people had made different objects
from iron for centuries before they learnt the structure of the metal. But some
modern technologies, such as nuclear power production and space travel, depend
heavily on science.

1. Find Russian equivalents:
1) the use of people’s inventions —
2) ashelter —
3) the development —
4) science —
5) nuclear power production —

2. Find English equivalents:
1) 4TOOBI yIOBIETBOPUTH CBOU TIOTPEOHOCTH —
2) CIycCTsI BeKa —
3) mMaccoBoe MPOU3BOJICTBO TOBAPOB —
4) pa3IU4HbBIC CTOPOHBI —
5) mo3BoJsieT MHOTUM Bel[aM MPOUCXOJUTh —

3. Correct mistakes:

1) Mo Toro, KaK JIFOJIM 3aCCIIMIM 3eMJII0, Y HUX ObLiia €/1a, BOJa U KPOB.

2) ITpomeliieHHas peBotonus HagHETCS yepe3 200 J1eT ¢ mpeKkparieHueM
WCIIOJIb30BaHUs MAPOBOI0 JIBUTATENsI, pocTa (habpHK U MaCCOBBIM
MIPOU3BOJICTBOM €/]Ibl.

3) Ho TOJbKO TEXHOJIOTH OCHOBAHBI B HayKe.

4. Find in the text sentences with verbs in Present Indefinite Tense.

5.Find pairs.
1. |aninvention A | the production or manufacture of goods in large
quantities, especially by machinery
2. | anindustrial B | power derived from nuclear energy
technology
3. | adiscovery C | the action or process of finding out something new
4. | afactory D | an engine worked by steam, typically one in which

a sliding piston in a cylinder is moved by the
expansive action of the steam generated in a boiler

5. | mass production | E | spaceflight of manned vehicles

6. | ascience F | an apparatus consisting of interrelated parts with
separate functions,used in the performance of some ki




nd of work

)

7. | nuclear power the action or process of creating something new

8. | aspace travel H | the branch of knowledge that deals with the creation
and use of technical means and their interrelation
with life, society, and the environment

9. |asteamengine |l |any place producing a uniform product

10.| a machine J | systematic knowledge of the physical or material
world gainedthrough observation and experimentation

BAPUAHT 2
SCIENCE AND TECHNOLOGY

Technology means the use of people’s inventions and discoveries to satisfy
their needs. Since people have appeared on the earth, they have had to get food,
clothes and shelter. Through the ages, people have invented tools, machines and
materials to make work easier.

Nowadays, when people speak of technology, they generally mean industrial
technology. Industrial technology began about 200 years ago with the development
of the steam engine, the growth of factories and the mass production of goods. It
influenced different aspects of people’s lives. The development of the car
influenced where people lived and worked. Radio and television changed their
leisure time. The telephone revolutionized communication.

Science has contributed much to modern technology. Science attempts to
explain how and why things happen. Technology makes things happen. But not all
technology is based on science. For example, people had made different objects
from iron for centuries before they learnt the structure of the metal. But some
modern technologies, such as nuclear power production and space travel, depend
heavily on science.

1. Find Russian equivalents:

1) the use of people’s discoveries —
2) tools —

3) the growth —

4) industrial technology —

5) space travel —

2. Find English equivalents:

1) M IPUXOIUIIOCH UCKATh €Iy —
2) MapoBO¥ JBUTATENb —

3) pocr uncna padbpuk —

4) mpITaeTcsi OOBSICHUTH —




5) 3aBHCHUT B 3HAYUTCIIHLHOU CTEIICHU —

Correct mistakes:

1) CmycTs Beka JIHOAH UCIIOIb30BAIM MeOeIb, aBTOMOOMIIN M MaTePHUAIBI,

YTO HAMHOT'O YCIIOKHSIIO UX TPY.

2) Panuwo u TeneBuaeHue 3a0pann Bc€ MOJIE3HOE BPEMSI.

3) Hampumep, moau HE CMOTIIH JIEJIaTh pa3IndHbie 00beKTH 13 Mpana

LEHTHEpPaMH T0CJIE TOTO KaK Y3HAJIM O CTPYKType MeTajuia.

4. Find in the text sentences with verbs in Past Indefinite Tense.
5. Find pairs.

1.| an invention A | the production or manufacture of goods in large
guantities, especially by machinery

2.| an industrial B | power derived from nuclear energy

technology

3.| a discovery C | the action or process of finding out something new

4. | a factory D | an engine worked by steam, typically one in which
a sliding piston in a cylinder is moved by the
expansive action of the steam generated in a boiler

5.| mass production E | spaceflight of manned vehicles

6. | a science F | an apparatus consisting of interrelated parts with
separate functions,used in the performance of som
e kind of work

7.| nuclear power G | the action or process of creating something new

8.| a space travel H | the branch of knowledge that deals with the creati
on
and use of technical means and their interrelation
with life, society, and the environment

Q.| a steam engine I any place producing a uniform product

10| a machine J | systematic knowledge of the physical or material

world gainedthrough observation and experimenta
tion
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IHPOBEPOYHAS PABOTA
no temam 2.11. IIpodeccun, kapbepa,
2.12. OTabIx, KAaHUKYJIbI, OTHyCK. Typusm

Kontponupyemsie komrierenuu OK 02, OK 04, OK 09, I1K 1.1, TIK 1.3, IIK 3.1,
IIK 3.3

MeToan4ecKne VKa3aHus K KOHTPOJILHONW padoTe

Jlannast paboTa MOKET OBITh MCIIOJIb30BaHA HA ATAre KOHTPOJIS 3HAHUM.
Pa3zpabotano 2 BapuanTta 3ananuil. KontposnbHas paboTa cOCTOUT U3 5 3a7aHUil.
Bce BapuaHThl pabOThl paBHOIICHHBI.

Pabora paccunurana Ha 40 MUHYT.

Kputepuu onieHKH:

Kaxxioe 3ajaHue NpruHOCUT ONPEAEIEHHOE KOJIUYECTBO OAIOB.
«OtauuHo» — 35-40 6amnos;

«Xopomo» — 30-34 Ganna;

«Y10BJIETBOPUTEJIBbHO» — 21-29 Gaios,
«HeynoBiaersopurenbHo» —20 6anio0BU MEHee.

BAPUAHT 1

I. @) Translate in to English (10 6ajajgoB — 1 6aj1_3a KaKIbli
NpPaBUJLHLIH OTBET):

b) Make up 4 sentences with these words and word combinations.
Chooseanyyoulike(8 6ajajgoB — 2 6aJjjia_3a KaKja0€ TNPaBHJIbHOE

npeajaoKeHmue):

BBIMTH HA IIEHCHIO

M0/IaBaTh 3asBJICHUE O TIPHEME Ha padoTy
paboToiatesnb

pabouast 00cTaHOBKa

3apabaThiBaTh

TEKy4eCTh KaJIpOB

paboTa Ha HETIOJIHBIN JICHb

pe3ome

JIOCTHKCHHUE

BECTH JIeJa C

1. Complete the sentences with the suitable expressions (16 6anja0B — 2
0aJjijia 3a KaK/Iblid NPABUJIbHbIN OTBET):

| don't care who's at the meeting — I'm going to ... my mind about the new
proposals.
The dress ... my ... in the window, so I went into the shop to try it on.



O N o Ok

My sister ... her own ... so she's studying art instead of following my father
into the business.

Can you ... all the windows are shut before we leave?

I missed the meeting, but Alex ... me ... what was said.

If you don't ... the problem ..., it will just get worse.

Despite the rain, the climbers ... their ... and got to the top of the mountain.

The gambler went with his ... and put all his money on the same horse.

I11. @) Write out the linker that is NOT possible in the sentences (6
0ajguaoB — 1 0aJ1J1 32 Ka)/JAblii IPABUJIbHBLIH OTBET):

The workers covered the furniture with sheets so as not to / notto/ in
order not to splash it with paint.

After his accident my brother sold his car as / since / because of he couldn't
afford the insurance.

We admit full responsibility for the error and nevertheless / consequently /
therefore wish to offer you a full refund.

| agreed to help on the stall although / in case / even though | didn't feel
like it.

We enjoyed the concert although / since / though we didn't have very good
seats.

At the meeting Carla didn't change her mind due to / on spite of /despite the
fact that everybody was against her.
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BAPUAHT 2

I. a) Translate in to English (10 6aanoB — 1 6aag 3a KaxkIblid
NPABUJBbHBIA OTBET):

b) Make up 4 sentences with these words and word combinations.
Chooseanyyoulike(8 6aajgoB — 2 6ajjia_3a_ Ka)Kji0e TNPABHJIbHOE
NnpeloKeHne):

MOOIIPSThH
UCKaTh padoTy

pabOTHUK

BBITIOJTHSTH PA3JIMUHYIO paboTy
paboTa Ha MOJIHBIA JIEHb
3apaboTHas miaTa

OBITh YaCTBIO YCIICITHOW KOMaH/Ibl
KoJuiera

COKpalIeHHE KaJIpoB

JOCTUKEHUE

1. Complete the sentences with the suitable expressions (16 6aajaoB — 2
0aJjijia 3aKax/Ablil IPABUJbHBIH OTBET):

Lucinda's boyfriend really ... her ... when he said she was overweight.

It never ... his mind that he might be sacked for what he'd done.

The meeting was a disaster because we hadn't planned it ... .

The leader was so far in front that the other runners could not ... with her.

Maria ... question 4 so she had to phone a friend and ask for help.

His advisers told him to sell the shares, but he is ... his to ...and keeping
them.

Why don't you mind your ... and stop asking me about my private life.

The manager told me to ... the meeting ... because he had to leave early.

I1l. a) Write out the linker that is NOT possible in the sentences (6
0augjoB — 1 0aJ1J1 3a KasK/blii IPaBUJIbHbIN OTBET):

In spite of / Even though / Despite being the better player, Richard lost the
match.

Laila's mother-in-law was a very difficult woman. However / Nevertheless /
Consequently Laila couldn't help liking her.

We set off at dawn owing to / in order to / so as to avoid the rush hour
traffic.

Sales figures have fallen drastically due to / because / owing to the
recession.

The restaurant chain has had a very difficult year. However / As a result /
Nevertheless, they haven't had to close any of their restaurants.



6.

Sales decreased over the last three months. So / Therefore / Consequently
we will not be taking on any new staff.

INPOBEPOYHASA PABOTA
no teme 2.13. UcKycCTBO M pa3Biie4YeHUsI
(«CTpaaaTeibHBIN 32J10T»)

Kontponupyemsie komrnerenuuu OK 02, OK 04, OK 09

MeToanyecKue YKa3aHus K KOHTPOJIbHOM padoTe

JlanHast paboTa MOXeET ObITh UCIIOJIB30BAHA HA 3TAIle KOHTPOJIS 3HAHUM.
Paspaborano 2 BapuanTa 3aganuii. Bce BapuaHThl paboThl paBHOIICHHBI.
Pa6ora paccuntana Ha 40 MUHYT.

Kpurtepuu oLieHKH:

Bce 3aJaHusA HpOBCpO‘IHOﬁ pa6OTBI ACIIATCA Ha 3 YPOBHA. OI_IGHKEI BBICTAaBJISICTCA B
3aBUCHUMOCTH OT BBI6paHHOFO YPOBHA 3aJ/laHud M OT IIPaBUJIBHOCTH C€T0
BBITTOJIHCHUA.

BAPUAHT 1
’,3’9

Halinure 1 ucripaBbTe OMIUOKH:

1. She was visit with her friends. 2. They shall be shown a new film tomorrow. 3. |
don’t know what the book he are reading. 4. Have the work been finish yet? 5. He
was be tolding the news when | entered the room. 6. New houses are build
everywhere: in cities, towns, and villages. 7. This building will had being
completed by the end of this year. 8. The newspapers is brought in the morning.

2
”4

BcTaBsTe maHHBIE IJ1aroJibl BMECTO IPONMYyCKOB. MCOIBL3VITE HYKHOE BpEMS.

do, examine, attend, divide, arrest, complete, open, install

1. He ... by the police for speeding. 2. The new apparatus already ... when the
delegation arrived. 3. The experiments ... by the end of the week. 4. Who ... now?
5. A new library ... in our district next week. 6. The lecture on mathematics ... by
all the students last week. 7. This work ... from 4 till 7 yesterday. 8. The academic
year ... into two terms.



2
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CocraBbre paccka3 (He meHee 10 mpeayioKeHuil), HCIOJIb3ys CTPadaTeabHBIN
3aJ10T.

BAPUAHT 2
,,3”

Havinure 1 uctipaBbTe ONTHOKU:

1. The city was ruin with the bombs. 2. When shall this problem be discussed? 3.
She is say to be a first-class teacher. 4. [ haven’t being given a chance to explain. 5.
We were be telling something interesting when the phone rang. 6. The new
equipment will had being installed by May. 7. America were discover in 1492. 8.
The furniture is make of expensive wood.
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BcTaBbTe gaHHBIC IIar0Jibl BMECTO IPONyCKOB. MCIIOIB3YNTE HY>KHOE BpEMSI.

show, pack, explain, do, hold pack, agree, situate

1. The date ... on next week. 2. That film already ... on TV. 3. A conference on
those problems ... now. 4. I understood the rule after it ... to me twice. 5. Moscow
University is one of the oldest buildings in Moscow. It ... in the centre of Moscow
opposite the Kremlin. 6. The work by the end of August. 7. Thisshop ...
ateighto’clock. 8. Thegoodsjust ...

2
»

CocraBbTe paccka3 (He meHee 10 mpennoKeHuil), MCMOIb3YS CTpPadaTeIbHBIN
3aJIor.

KOHTPOJIBHASA PABOTA
no teme 2.14. I'ocypapcTBeHHOe YCTPOHCTBO, IPABOBbIE HHCTHUTYThI
(«HesqnuHbIe (OpPMBI IJ1AT0J12»)

Kontponupyemsie komnerenuun OK 02, OK 04, OK 09

MeToau4ecKHe VKA3aHUus K KOHTPOJLHOM padoTe

JlanHast paboTa MOKET OBITh MCIIOJIb30BaHA HA ATANe KOHTPOJIS 3HAHUM.
Pa3paboTano 2 BapuanTa 3aganuii. Bce BapuanThl pabOThl paBHOLIEHHBI.
Pabota paccunrtana Ha 40 MUHYT.



Kpurepuu oneHku:

Bce 3ananus KOHTpOIbHON paboThI fAenarcs Ha 3 ypoBHs. OlleHKa BBICTABIIAETCS B
3aBUCHUMOCTH OT BBIOPAaHHOTO YpPOBHSA  33JaHUd W OT TMPAaBUIBHOCTU €T0
BBIIIOJIHEHHS.

OTBeThI K TECTOBOM YaCTH (VPOBEHDb «3»)

Bapuanr 1 Bapuant 2
1. a 1. a
2. a 2. b
3. Db 3. a
4. c 4. b
5D 5. ¢
6. a 6. C
7. a 7.¢C
8. C 8. a
9. a 9. ¢
10.b 10.a
11.a 11.c
12.blc 12.a
13.a 13.b
14.b 14.c
15.b 15.a
BAPUAHT 1
237

BBI6CDI/ITC OJHWH WJIN HECCKOJIBKO IIPABUJIBHBIX BAPUAHTOB OTBCTA.

1.She was tired ... her part in the play.
a) to repeat; b) of repeating; c) repeat

2. We knew ... a successful businessman.



a) him to be; b) he to be; ¢) him be
3. They objected ... him.
a) to inviting; b) to invite; c) inviting
4. Harris and I started ... potatoes.
a) peel; b) peelling; c) to peel
5. ... the book, he began to read.
a) Opening; b) Having opened; ¢) Opened
6. We expected the delegation ... at 10 o’clock.
a) to arrive; b) arriving; c) arrive
7. ... the classroom she greeted the teacher.
a) Having entered; b) On entering; c¢) On entered
8. The boy saw his parents ... the room.
a) to leave; b) leaved; c) leave
9. While ... Bernard Shaw visited India.
a) travelling; b) travel; c) travelled
10. He sat at the table without ... anything.
a) eat; b) eating; c) ate
11. There was a ... toy on the floor.
a) broken; b) breaking; c) break
12. I heard the rain ... on the roof.
a) to fall; b) falling; c) fall
13. She began ... the message.
a) dictating; b) dictate; c) dictated
14. You are supposed ... these rules.
a) knowing; b) to know; c¢) know
15. Tom walked along the park ... .

a) to sing; b) singing; c¢) having sung
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|. BcTtaBbre yactuiy 10, riue Heo0X0IMMO:

1. They made me ... fell civilized. 2. May I ... ask you then what you would ...
advise me ... do? 3. Look here, I want you ... read this play at once. 4. She heard
him ... slam the front door and saw him ... come out. 5. It’s a waste of time ...
wait any longer.

Il. PackpoiiTe cKOOKH, HCIOIB3YsI HYKHVIO (hOpMY IIPUYACTHSA .

1. (to feel) unwell, she went below. 2. (to dress) in the white frock she looks
even more charming. 3. “You’re nice — you’re very nice!” she said, (to kiss) her
baby. 4. (to reach) her room, she turned on all the lights. 5. (to show) the way |
could find his house easily.

1. U3menute CTPYKTYPY IPEIJIOKCHUM, UCIOJb3YS T€PYHINM

1. He was afraid that he would bother her. 2. I insist that you should be well
educated. 3. We can rely that we shall find you at home. 4. There is no possibility
that he will do that. 5. When he arrived home he heard the click of billiards balls.

2
”5

|. 3akoHUHMTE NPCAJIOKCHUA, MCITOJIB3Ys F€DVHI{HI>1 WJIU [TPUYIACTHUC:

1. He could not remember ... 2. At that moment a man ... 3. They avoided ... 4.
He cancelled all his appointments ... 5. Hecameintotheroomwithout ...

Il. TlepeBenyre HA AHTJIMIUCKUI A3BIK, UCIOJIB3YSI HEJIUYHBIE (hOPMBI TJ1aroJia;

1. S ycrana caymats 310. 2. OHa BCIOMHMIIA, YTO TMOCHIJIA €My TeJlerpaMmy. 3.
A wabmonana, kak J[keitH pacuecbiBasia BoJOCH . 4. Crblliany, Kak OH OTKpPbBUT
JIBEph W BOIEN B JOM. 5. BbI, KaxkeTcs, morepsui 4To-10. 7. OH OOsUICs, YTO A
nepenymaro. 8. MyKunHa, CTOAIINN Y OKHA, MOU 114 [[OH.

BAPUAHT 2
’,3”

Bri0epuTe nnpaBuiabHbBINA BApUAHT OTBETA:




1. They listened attentively without ... .
a) interrupting; b) interrupt; c) interrupted
2. He is said ... poetry.
a) write; b) to write; ¢) writing
3. The girl looked at the plane ... in the sky.
a) flying; b) to fly; c) fly
4. 1 hope ... you again soon.
a) see; b) to see; c) seeing
5.1 insist ... to.
a) to listen; b) of listening; c) on listening
6. I looked up and saw ... .
a) her to cry; b) she to cry; c) her cry
7. Did you see the contract ... last week?
a) signing; b) sign; c) signed
8. I felt John ... me by the hand.
a) take; b) to take; c) taking
9. This book is worth ... .
a) read and discuss; b) reading and discussing; c) being read and discussed
10. She consulted the doctor before ... to the South.
a) going; b) go; ¢) having gone
11. I let my brother ... my bike.
a) to take; b) taking; c) take
12. My brother will enjoy ... you.
a) seeing; b) see; ¢) seen
13. I want you ... happy.
a) be; b) to be; c) being

14. I’m interested ... more about your work.



a) at learning; b) of learned; c) in learning
15. He came here ... English.

a) to study; b) studying; c) study
247

|. BctaBeTe yactuny {0, rae H€O6XOI[I/IMO:

1. I wish I could ... let him ... take things easier. 2. He is a hard nut ... crack. 3.
We have ... go, darling. 4. I am not going ... tell you the story of my life. 5. There
IS no time ... be lost.

Il. PackpoiiTe cKOOKH, HCIOIB3YsI HYKHVIO (hOpMY IIPUYACTHSA .

1. (to pass) all the examinations he left for his native town. 2. He heard the voices
(to come) through the open window. 3. It was an old county inn (to furnish) very
modestly. 4. She stood (to watch) them, her hands by her side. 5. (to send) on the
wrong address the letter didn’t reach him.

I11. U3MeHuTE CTPYKTYPY OPEUIOKEHNN, UCIIOIL3YS TEPYH TN

1. I don’t eat bread because I’'m afraid that I’1l get fat. 2. | object that he that he ill
stay at home. 3. You don’t mind if I say this, do you? 4. After I had thought about
carefully | found it necessary to warn her. 5. It’s no good to be at about the bush.
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|. 3akoHynTE IPCAI0KCHUA, NCITOJIb3Vi FGDVHI[I/Iﬁ WJIU [IPUYIACTHUC.

1. Listening to the news, ... 2. He insisted ... 3. I am fond of ... 4. They looked at
he people ... 5. Annisafraid ...

Il. IlepeBenure Ha AaHTIIMUCKUN A3BIK, UCOOJIL3YSI HEJTUYHBIE (DOPMBI IJ1aroJja.

1. S moGnaromapuia ero 3a TO, YTO OH MO3BOHMII MHE. 2. I'OBOpAT, 4TO OH
BepHyJIcs B MockBy. 3. S Tonpko kuBHYyJa (tONOCK) rojoBOM, HHYErO MM HE
ckazaB. 4. S neiicTBuTeNbHO OueHb paszodapoBaHa (todisappoint). 5. VY3uas
npaBay, oHa pacmuakaiach (tofallintears). 6. OdeHb CIIO)KHO BECTH MAIMHY B
Oonbiom ropone. 7. Mel Bunenu, kak Jlxek nepexoaun ynuiy. 8. OH, BEpOSITHO,
CKOPO MPUAET CIOAA.



KOHTPOJIBHAS PABOTA
no teme 2.15. lokymeHTBI (MIUChMA, KOHTPAKTHI)

Kontpomupyemsie komnerenuuu OK 02, OK 04, OK 09, TIK 1.1, TIK 1.3, TIK 3.1,
[IK 3.3

MeToan4ecKne VKA3aHusd K KOHTPOJLHOW padoTe

Jannast paboTa MOXET ObITh UCIIOJIb30BaHA HA 3Tarle KOHTPOJIS 3HAHUA.
Pa3paborano 2 BapuanTa 3aganuil. KonTposibHas paboTa cOCTOUT U3 5 3a1aHUM.
Bce BapuaHThl pabOThl paBHOLICHHBI.

Pabora paccuntana Ha 40 MUHYT.

Kpurepuu oneHku:

«OTJIHYHO» — BEPHO BHIIIOJHEHBI BCE 5 3a/1aHUM;

«Xopo110» — BEPHO BBINOJHEHBI 4 3a1aHus U3 5;

«YI0BJIETBOPHUTEJIBHO» — BEPHO BBINIOIHEHBI 3 3aJaHUs U3 5;
«Heya0oBJIeTBOPUTEIBLHO» — BEPHO BBIIIOJIHEHO MEHEE 3 3a1aHUM U3 5.

BAPHUAHT 1

I. Match the numbers on the envelope with their meanings.

(1) Hanston Electrics,

48 (2) Golden Road,
Manchester (3) M11 4NS
England

(4) The Music Shop,
45 (5) Winston Road,
London (6) WC2 10H

the sender's name

the Zip Code in the return address
the street name in the mailing address
the addressee's company name

the street name in the return address

the Zip Code in the mailing address

11. Define the type of the business letter.

Dear Sir or Madam,

I am writing in connection with my forthcoming visit to your




company and my letters of 12 and 13 January.

Unfortunately, 1 will not be in Hong Kong until 12 March because all
the flights before then are full.

(From Company to Company by A. Littlef)

1 Simple commercial letter
0 CcV
Memo
Contract
I11. Put the parts of the business letter in the right order.
1Messrs Morgan & Co., 47 Tilbury Square, London
N.W.

Yours faithfully,
Robert Bear

Sales Manager
The Sheffield Electronics Corp., 51 Gooseberry
Street, Sheffield BN 30X, GB

21 December 2002

We would be grateful if you could send us your latest
catalogue and price list of car appliances advertised in
the current issue of Motoring Monthly.

Dear Sirs,

IVV. Choose the words or word combinations for filling the gaps of the memo.

(@D)] : Caroline Burton
From : Sue Swiss

Subject : meeting with a client
Date 1 (2)

I have to change the date of a meeting with Mr. John
Williams scheduled for (3) because of the urgent trip
to the headquarters of our company from 4 May to 10 May.

Will you please make new arrangements with him.

4___




1Monday, 30 April
To
6 May

Thanks

V. Write your own business letter.

BAPUAHT 2

I. Match the numbers on the envelope with their meanings.

(1) A & P Accountants
4563 Presley Avenue
Memphis, (2) Tennessee 50647

(3) Tech Tools, Inc.
(4) 3553 Johnson Avenue
(5) Houston, Texas (6)

the Zip Code in the mailing address

the house number in the mailing address
the sender's company name

the town the letter is sent to

the addressee's company name

the state the letter comes from

11. Define the type of the business letter.

Education:  Park High School

Experience: Twenty years in US army — Physical Fitness
Instructor. Travelled all over the world. Left army
three years ago. Has taken courses in marketing,
management and computing. Over the last two years
has run a fitness centre in Lower Manhattan very
successfully.

Skills: Speaks Spanish fluently. Is a successful disc jockey
in a downtown club.




(From Market Leader by D.Cotton, D. Falvey, S.Kent)

Memo
ICV
"I Letter of application

Letter of complaint

I11. Put the parts of the business letter in the right order.
1Messrs Morgan & Co., 47 Tilbury Square, London

N.W.

Yours faithfully,

Robert Bear

Sales Manager
The Sheffield Electronics Corp., 51 Gooseberry
Street, Sheffield BN 30X, GB

21 December 2002

We would be grateful if you could send us your latest
catalogue and price list of car appliances advertised in
the current issue of Motoring Monthly.

Dear Sirs,

IVV. Choose the words or word combinations for filling the gaps of the memo.

To : Eric Ford, Purchasing
(@D)] : Helen Wong, Marketing
Subject : (2)

Would you please (3) for our new employee,
and tell me when the furniture will arrive?

4___




H. W.
[ Tbuy a swivel chair and a desk
TFrom

buying new furniture

V. Write your own business letter.



INPOBEPOYHAS PABOTA
no teme 2.16. Tpancnopt
(«npuauTuB», «CTpagaTejbHbIi 327101»)

Kontpomaupyemsie komnerennnu OK 02, OK 04, OK 09, IIK 1.1, IIK 1.3, TIK 3.1, TIK

3.3

MeToanuecKue YKA3aHUs K IPOBEPOYHOM DﬂﬁOTe

JlanHast paboTa MOKET OBITh UCIIOJIB30BaHA HA ATAIE KOHTPOJIS 3HAHUU.
Pa3pabotano 2 BapuaHTa 3agaHuil. Bce BapuaHThl padOThI paBHOLICHHBI.
Pabota paccuutana Ha 40 MUHYT.

Kputepuu oieHKH.

«OTJIHYHO» - BEPHO BBINOJIHEHBI |-5 3a1aHus;

«Xopou10» - BEpHO BHITIOJIHEHHI 1-4 3a1aHus;

«YIIOBJ'IETBOPI/ITCJIBHO» - BCPHO BBIITOJIHCHEBI 1-3 3adaHuAd,

«HCyHOBJ’ICTBOpI/ITEJIbHO» - BCPHO BBIIIOJIHCHO MCHCC 3 3aJJaHU.

1
1)
2)
3)
4)
5)

BAPUAHT 1
First diesel-electric locomotive

In 1922 a group of designers began to work at the construction of the first diesel-
electric locomotive for the freight traffic. The author of the project was Hackel
I.M., a professor of the Leningrad Institute of Railway Engineers. The test model
was produced at the Baltic Plant in 1924. It had an internal combustion engine
connected to the running wheels by electric transmission. Locomotives with
greater traction power and less consumption of fuel were needed. This resulted in
the appearance of the TE-1, TE-2 models. In 1953 an experimental double-unit
diesel locomotive of the TE-3 type was constructed. The most advanced diesel in
series production was the TE-109 which was also available for export. It was
powered by a 3,000-h.p diesel.

Find Russian equivalents:
a diesel-electric locomotive —
a freight traffic —
an internal combustion engine —
less consumption of fuel —
a 3,000-h.p diesel —



6)
7)

2.
1)
2)
3)
4)
5)
6)
7)

3.

an appearance —
the most advanced —

Find English equivalents:
npoOHas MOJICIb —
BEAyLIME KOJIEca —
AJIEKTpUYECKasi TPAHCMUCCUS —
CBSI3aHHBIN —
CIBOCHHBIN JJOKOMOTHB —
CEpUIHOE TPOU3BOACTBO —
MIPUTOAEH IS SKCIIOPTa —

Correct the translation:
[IpoOHas mozenb Obuia mpousBeaeHa Ha bantuiickom 3aBoje B 1924. YV Heé

OBLT JBUTATENIb BHEIIHETO CTOPAaHMS, MPUCOSAMHEHHBIA K BEIYIIUM KOJIECaM
AIEKTPUYECKON TpaHCcMUCCUEN. JIOKOMOTHMBBI C MEHBIIEH TITOM W MEHBIIUM
notpedsienremM HedTH TpeboBauch. PesynpTaTom cTano nosisneHue mozeneit TE-
1, TE-2. B 1953 Obu1 CKOHCTPYUPOBAH dKCIIEpUMEHTAIbHBIN TE-3 THr.

Find one sentence with the Infinitive, define its type.

Find sentences in the Passive Voice, define the Tenses.

BAPUAHT 2
Freight yards

Freight trains are «made up» in the freight yards of railroad terminals. A freight
yard consists of a large number of tracks connected to switches. They can be used
for sorting and distributing cars. In the freight yards the journeys of all freight
trains begin and end. The freight yard is a place where the incoming trains are
received. The cars are sorted. Many of them, loaded with inbound freight are
distributed to team tracks, industrial sidings and freight houses. Some of them have
destination further along the railroad. These cars stay in the yard and as soon as
possible are placed in outgoing tracks to continue their journey. The freight yard is
also the place where the cars of outbound freight are collected.

outlying—yoanennuit;



outbound — omnpasnennwii,

team track - esimssrcnoiinyms;

freighthouse- mosapnas cmpenka.

1. Find Russian equivalents:

1)
2)

4)

1)
2)
3)
4)
5)
6)
7)

3.

ToBapnbie moe3na
TEepMUHAJIOB. [Py30BOM JBOP COCTOUT W3 MAICHBKOTO KOJHUYECTBA TyTEH,
COEIMHEHHBIX CO cTpenkaMu. OHU UCTIONB3YIOT JJIsi COPTUPOBKH U PACIIPEICIICHUS
1oe370B. B rpy30BbIX JBOpax MOE3AKH BCEX MACCAKUPCKUX BArOHOB HAUYMHAKOTCS
Y 3aKaH4YMBaIOTCS. [ py30BOM JBOP — MECTO, A€ MPUHUMAIOTCSI BXOASAIIME MTOE3/a.

a freight yard—

a switch —

a journey —

a destination —

as soon as possible —
distributing —
sorting —

Find English equivalents:
TOBapHbIN (rpy30BOi) MOE3A—
MPUOBIBAIOIINI —

IPUHUMATH —
POMBIIIJIEHHBIN TYTUK —
IPOJIOKATh —
Harpy>K€HHbIA —

I10 JKEJIE3HOM JOpoTre —

Correct the translation:

Baronsicoptupyrorces.

4. Find one sentence with the Infinitive, define its type.

5. Find sentences in the Passive VVoice, define the Tenses.

«COCTABJLAKOTCA» B TI'PY30BBIX JBOpaAx aBTOMOOMJILHBIX



INPOBEPOYHAS PABOTA
no temaMm 2.17. IIpomMbIlILIEHHOCTD, 2.18. JleTanu, MexaHU3MBbI
(«'maroabHble popMbl HA -iNQ», «CTpaaaTe/IbHbIN 32J100»)

Kontpomupyemsie kommnerennimu OK 02, OK 04, OK 09, TIK 1.1, IIK 1.3, TIK 3.1, TIK
3.3

MeToanyeckue YKa3aHus K IPOBEPOYHOIl padoTe

JanHast paboTa MOKET OBITh UCIIOIb30BaHA HA ATANE 3aKPEIUICHUS U KOHTPOJIS 3HAHUM.
Pa3pabotano 2 BapuaHnTa 3aaHuii. Bce BapuaHThl pabOThI PaBHOLICHHBI.

Pabora paccuntana Ha 60 MUHYT.

Kpurtepum oieHKH:

«OTJMYHO» - BEPHO BHINOJIHEHBI 1-5 3axanus;

«Xopo1io» - BepHO BbINOJIHEHbI 1-4 3a1aHus;

«Y10BJICTBOPHUTEJIBHO» - BEPHO BBINOJIHEHBI 1-3 3aganus;
«Heya0B1€TBOPHTEIBbHO» - BEPHO BBIIIOJIHEHO MeHee 3 3a1aHuil.

BAPUAHT 1
1. Translate the following sentences paying attention to Participles I.
1) The road joining the two villages is very narrow.
2) Driving a car in the rush hours, you must be very attentive because traffic is very
heavy.
3) Having built the world’s first electric locomotive, Werner von Siemens demonstrated
it at the Berlin Exhibition.
4) The first Metro trains were driven by steam locomotives which burnt coal, filling the
tunnels with smoke.
5) All trains operating on the suburban lines are driven by electricity.
6) Each railway station has at least two tracks, those for the incoming and outcoming
trains.
7) Having arrived two days before the conference, he had a lot of time to see London.
8) The number and the spacing of the sleepers depend on the weight of trains passing
over the track.
9) The volume of passenger transportation is increased in summertime because many
people spend their holidays, traveling all over the country or abroad.
10) They stopped their experiments having obtained the necessary results.

2. Form Participles Il from the verbs given in brackets and translate the word
combinations from English into Russian according to the model.

Model: a [to write] article — a written article (nanucannascmamos)

s the distance [to cover] by the train

= the [to delay] flight

= the [to break] engine

= mistakes [to make] in calculations

= the [to carry out] plan



= railway tickets [to sell] yesterday

= the contract [to sign] by two companies

= the [to damage] car

= freight [to transport] by railways

o luggage [to leave] in the Left-Luggage Room

3. Translate the phrases given below into English. Pay attention to Participles I in
different functions.

" IIaCCAKHPHI, CIICITAUC 3aHATbL CBOU MCCTa

= pabOTAaIOIINIA IBUTATEIIb

" MHIXCHCD, 3HaIOIHI/II>'I ABa HHOCTPAHHBIX S3bIKa

= [10€3]1, MPUOBIBAIOINI uepe3 5 MUHYT

= BO3pacCTaONINil 00BEM MACCAKUPCKUX MTEPEBO30K
® CTPOA MOCTHI 1 TOHHCIIN

* UCIILITHIBAsA HOBBIN ABUT'AaTCIIb

" IIPOBOJS SKCIICPUMCHT

" OI03/1aB Ha I0E3/]

= popaboTtas 20 jeTHaKEIE3HOHI0pOTe

4. Translate the phrasess given below into English. Pay attention to Participles IlI.
* IOKOMOTHUB, MPUBOIUMBIN B ABUKEHUE IIIEKTPUUECTBOM

= IBUTATEJIb YCOBEPILIEHCTBOBAHHOW KOHCTPYKITUU

= JKeJIe3Has JOpora, MOCTPOEHHAs JJIsl BBICOKOCKOPOCTHBIX MACCAXKUPCKUX MEPEBO30K
= 3aCTPaxOBaHHBIH [tO Insure]| aBTOMOOWIIb

* OTPEMOHTHPOBAHHBIN [tO repair]| y4acToK MmyTH

= HUQpBbI, YIOMSHYTHIE [t0 mention]| B TOKJIaAe

* [IOJTy4YE€HHBIN pe3yJibTaT

= 000pyZOBaHNE, YCTAHOBJIEHHOE B JJabOpaTopuu

= BOK3aJI, PEKOHCTPYUPOBAHHBIN B MPOILIOM T'OAY

= BaroH, UCTOJb3YEeMBbIH JJIs IePEBO3KU HEDTH

5. Translate the following sentences replacing the Russian words by their English
equivalents.

1) The Oktyabrskaya Railway offers additional discounts for passengers
[myremectByromux] to Finland with children under the age of 17.

2) We spent an hour or two, [pasroeapusas] to our friends.

3) [IToctpous] the dam, they protected the village against flood.

4) In 1786, William Murdock, an English engineer, constructed a [padoraromiyro] model
of a small steam locomotive.

5) The journey from London to Norwich (184 km) takes exactly two hours, [Bkmrogasi]
stops.

6) [VYeunes] the green light, we crossed the street.

7) Freight trains [coctosime] of more than 80 cars are hauled by two locomotives.

8) [Oxwupas] for the train arrival, | looked through the magazines [nexamue] on the
table.



9) [IMonyuus] the telegram she immediately left for Glasgow.
10) At the stop we saw a lot of people [oxunasmux] for the bus.

BAPUAHT?2

1. Translate the following sentences paying attention to Participles I.

1) The volume of passenger transportation is increased in summertime because many
people spend their holidays, traveling all over the country or abroad.

2) They stopped their experiments having obtained the necessary results.

3) Chinese Railways lifted the maximum speed of passenger services to 140 km/h on
seven key routes radiating from Beijing (ITexun).

4) Passengers leaving for London were invited to register and weigh their luggage.

5) While unloading the car we found a few broken boxes.

6) The leading role of the railway transport in Russia is explained by the specific
territorial, climatic and geographical conditions.

7) When constructing the railway, it is cheaper to use local materials.

8) People living near airports suffer from the noise of taking off and landing jet airliners.
9) In 1840 the USA had 2,800 miles of railroad tracks consisting mainly of short lines.
10) Having measured the distance between two points, we can calculate the time a car
can cover it, if we know the car’s average speed.

2. Form Participles Il from the verbs given in brackets and translate the word
combinations from English into Russian according to the model.
Model: a [to write] article — a written article (nanucannascmamos)
= the [to restore] bridge

= the [to choose] profession

= machinery [to produce] at our plant

= the engine [to invent] by R. Diesel

= the [to forget] promise

= the [to propose] project

o [to increase] volume of traffic

o 3 [to force] landing

= freight [to deliver] two hours ago

o [to ensure] minimum of service

3. Translate the phrases given below into English. Pay attention to Participles I in
different functions.

= [10€3]1, TPUOBIBAIOIINIA Yepe3 5 MUHYT

= BO3pacCTaONINI 00BEM MACCAKUPCKUX TTEPEBO30K

= yu€Hble, IPUHUMAIOLIUE YYaCTHE B KOHPEPEHIINH

" MCXAaHHUK, yCTaHaBJ'II/IBaIOIHI/Iﬁ HOBOC€

= podeccop, YUTAIOUINH JIEKIIUIO0 000pyI0BaHKE

" CTpOs MOCTBI 1 TOHHEIN

* ICOBITHIBAs HOBBIN ABHUTATCIIb



* IBITASICh OTPEMOHTUPOBATH MPHUOOP [to try]
= BHEJIPUB HOBbIE METO/Ibl CTPOUTEIILCTBA
* [IPOBEPUB OMJIETHI y BCEX NACCAKUPOB

4. Translate the phrasess given below into English. Pay attention to Participles II.
* nupHI, YIIOMSHYTHIEC [t0 mention] B TOKIaae

* [TOJTy9CHHBIN pe3yJIbTaT

= 000pyI0BaHKE, YCTAHOBJICHHOE B JIA0OpaTOpUU

= BOK3aJI, PEKOHCTPYMPOBAHHBIN B IPOLIOM 'Oy

= BaroH, UCTIOJb3YEMBbIN AJI IEPEBO3KU HEPTH

= HOBasl CTAHIIUSI METPO, OT/AeNIaHHas [to decorate] MpamMopoM 1 OpPOH30M
" MalllMHA, CKOHCTPYHUPOBaHHAs MOJIOABIM NHKCHCPOM

" OK3aMCHbI, CIAHHBIC YCIICIITHO

* OWJIETHI, KYTUICHHBIC 3apaHee

= BEIllU, OCTABJICHHBIC B KAMEPE XPAHCHUS

5. Translate the following sentences replacing the Russian words by their English
equivalents.

1) Freight trains [coctosimue] of more than 80 cars are hauled by two locomotives.

2) [Oxwunas] for the train arrival, | looked through the magazines [nexarmue] on the
table.

3) [IToaxyuus] the telegram she immediately left for Glasgow.

4) At the stop we saw a lot of people [oxxugasiux] for the bus.

5) Ships are equipped with radar sets [momorarommmu] them to orient at sea.

6) A new road [coemnunsromias] the plant with the railway station is being built now.

7) [OcraBug] our suitcases in the Left-Luggage Room we went to have a snack.

8) The workers were moving from car to car, carefully [ocmarpusas] them.

9) The bright flowers [pactymue] along the railroad track attracted the attention of all the
passengers.

10) People [xuBymue] near railroad tracks often get so used to the sounds of

[mpoxomsmwmii] trains that they rarely notice the noise, but their visiting friends can be
quite distracted by it.

ITPOBEPOYHAS PABOTA
no teme 2.19. O6opynoBanue, padora
(«CJ105KHOCOYMHEHHDBIE M CJIOKHONOAYUHEHHBIE NPEIJI0KEHUN)

Kontpomupyemsie kommnerennmu OK 02, OK 04, OK 09, T1K 1.1, TIK 1.3, TIK 3.1,
IIK 3.3

MeToan4ecKue VKA3aHusd K NPOBEePOYHOH padoTe
JlanHast paboTa MOKET OBITh UCTIOJIb30BAaHA HA 3TAre 3aKPeIUICHUs] 3HAaHUH.




Pa3pabotano 2 BapuaHTa 3aaHuil. Bce BapuaHThl padOThI paBHOLICHHBI.
Pabora paccuntana Ha 30 MUHYT.

Kputepuu onieHKH:

Kaxknoe BepHO BBINMOJHEHHOE TIPEIOKEHUE MPUHOCHT 1o 1 Oaiy
«O1amano» - 14-15 6a,110B;

«Xopomoy» - 12-13 6a/1J10B;

«Y10BJIETBOPUTEJIbHO» - 9-11 6a/10B;
«HeynoBaeTBopuTebHO» - 8 02/1JIOB M MeHee.

BAPUAHT 1

1. Translate the italicized parts of the sentences from Russian into English

1) Ecau Obl 51 6611 Ha TBOEM MecTe, | would learn to drive a car.

2) If he had come a minute earlier, on He om031a71 ObI Ha MOE3/I.

3) Ecnu Obl OH wmcmosib30Ba HoBbie Marepuaibl, the device would have been more
reliable.

4) If the transportation costs are reduced, crouMocTh TOBapa OyJeT TOKE YMEHbBIIICHA.,

5) If there were no electricity, y Hac He ObUIO OBl HM paguo, HU TEJICBUICHUSA, HU
KOMITBIOTEPOB.

2. Look at the dictionary for the meaning of the following compound conjunctions:
as...as, as long as, as high as, as wide as, as soon as, as well as, both...and, either...or,
neither...nor, so that, the...the. Translate the sentences into Russian.

1) The construction of both the bridge and the dam will be completed before the
navigation season.

2 You can get to that part of the city either by bus or by underground.

3) As soon as the calculations are completed, we will begin the tests.

4) The more information we feed into a computer, the more correct answer we receive.

5) The strength of this synthetic material is as high as that of steel.

3. Fill in the blanks with the required compound conjunctions

1)  shorter the lever arm, _ greater effort is needed to lift the weight.

2) ___ longer I think of your plan, __ more | like it.

3) __ the comfort of the driver may be improved, the design of the seat was changed.
4 thebridge __ the tunnel will be constructed next year.

5) The invitations were sent beforehand _ the delegates might arrive in time for the
conference.

BAPUAHT 2

1. Translate the italicized parts of the sentences from Russian into English
1) Ecnu onu noaydar Bcé HeoOxoammoe obopynosanue, they will be able to carry out
their experiment.



2) dupekrop He npumet Tebs1, unless you phone him at least two days in advance.
3) I had to walk from the station. If | had had more money on me, s ObI B3sUT TakCH.
4) Ecnu 0b1 oH mostyun OuseT BoBpems, he would have gone with others.

5) Were the mechanic here, oH 661 OTpEMOHTHPOBAJ IBUTATEb.

2. Look at the dictionary for the meaning of the following compound conjunctions:
as...as, as long as, as high as, as wide as, as soon as, as well as, both...and, either...or,
neither...nor, so that, the...the. Translate the sentences into Russian.

1) The more information we feed into a computer, the more correct answer we receive.

2) The strength of this synthetic material is as high as that of steel.

3) The sun gives us both light and heat; it gives us energy as well.

4) We decided to cross the mountains so that we could reach the railway station in the
daytime.

5) The electric power is transmitted from the powerhouse to the trains either by means of
a third rail or by means of an overhead system of wires.

3. Fill in the blanks with the required compound conjunctions

1) The invitations were sent beforehand __ the delegates might arrive in time for the
conference.

2) I shall leave __ tonight __ tomorrow.

3 1 gave him the book _ he could prepare the task at home.

4) Franklin is known all over the world __ asascientist ___as a political leader.

5) __ larrive in the city, I shall phone you.

INPOBEPOYHAS PABOTA
no teme 2.20. UHcTpyKIIUHK, PYKOBOACTBA
(«CucreMa MOZAJIBHOCTHY)

Kontpomupyemsie kommerennnun OK 02, OK 04, OK 09, TIK 1.1, TIK 1.3, TIK 3.1,
IIK 3.3

MeToanuyecKHe YKa3aHHUs K IPOBEPOYHOIi padoTe:

JlanHast paboTa MOKeT OBITh UCTIOB30BaHA HA ATANE 3aKPEIUICHUS U KOHTPOJIS 3HAHHM.
Paszpabotano 2 BapuanTa 3aganuii. Bce BapuanThl paboThl paBHOIICHHBI.

Pabota paccuutana Ha 40 MUHYT.

Kpurepuu oneHku:
Bce 3amanus mpoBepouHoi paboThl fensTcss Ha 3 ypoBHA. OllEHKAa BBICTaBISETCS B
3aBUCUMOCTH OT BHIOPAHHOT'O YPOBHS 3a/IaHUs U OT MPABUILHOCTH €r0 BBIMOJIHECHHUS.

OTBeThI K TECTOBOM YaCTH:
«3»

BapuanT 1 Bapuant 2
1. b 1. d




2. C 2. a

3. a 3. a

4. b 4. a

5 a 5 Db

6. d 6. a

7. b 7. ¢C

8. b 8. a

9. a 9. b

10.b 10.c

11.c 11.b

12.b 12.b

13.b 13.a

14.a 14.c

15.c 15.b
«4»
2. Match the beginnings of the sentences with their endings.
1d 3)e 5)]j 7)c 9)f
2) h 4) i 6) g 8) b 10) a
«5»

1. Match two sentences to make mini dialogues. Pay attention to the modal verbs
and their equivalents.

1)1 3)h 5) f 7e 9)a
2) g 4) b 6) d 8) ¢ 10) |
BAPUAHT 1

«3». Choose the right variant.
1) Passengers come to the airport an hour before the take-off time.
a) are allowed to b) must c) will not able to d) needn’t

2) We usually go to the south by plane but tomorrow we travel there by train as we
didn’t make a reservation for the flight.

a) shall be allowed to b) needn’t ¢) shall have to d) should
3) You phone me again, | never forget my promise.
a) need not b) must not c) can not d) are not allowed

4) Until the 19th century people travel freely between most countries without a
passport.



a) are allowed to b) were to c) were able to d) should

5)1 _ take abus because Martin gave me a lift.

a) did not have to b) am not able to c) was allowed to d) was to

6) Thetrain ___ arrive at 5 p.m. but it detained because of track repair work.
a) must b) had to c) was able to d) was to

7) When the new road is built, I __ drive to work in under half an hour.

a) are able to b) shall be able to c) shall be allowed to d) could

8)1 _ meet you at the terminal.

a) shall be allowed to b) can c) shall be able to d) have to

9) You ___ change trains in Moscow because there is no direct train to Minsk.
a) will have to b) can c) needn’t d) will be able to

10) The pilot ___ land the plane on only one engine.

a) needn’t b) was able to c) should d) were allowed to

11) Now everybody  use these new telephones in the hall but for some fee.
a) are to b) need c) are allowed to d) could

12) Airline passengers __ use mobile telephones during the flight.

a) are able to b) are not allowed to c) were to d) needn’t

13) Stay here till she is free. | think you _ wait long.

a) need not b) will not have to c) are not allowed to d) shouldn’t

14) The train ____ depart from the station, as the line was busy.

a) couldn’t b) is not allowed to c¢) wasn’t to d) were not able to

15)According to the rules a football player _ touch the ball with his hands.

a) is able to b) has to c¢) must not d) will be allowed to

«“4»
1. Read and translate the following sentences paying attention to the modal verbs

must, can, may, need, should and the equivalents of the modal verbs.



1) Drivers of express and fast trains must have a rest after 3 hours of work.
2) You should not ride a motorbike without a helmet.

3) If you park in no-parking zone, the traffic police can tow away your car. You will not
be able to pick it up until you pay a fine.

4) You need not hurry up; you may take a later suburban train.

5) What can you do while traveling by train? You can read a novel or do a crossword
puzzle, you can just stare out of the window or talk to your fellow-traveler, you can sit
back and listen to the clicking of the carriage over the rails.

6) The tickets should not be thrown away as inspectors may check them during the trip.
7) If you buy railway tickets in advance, you have to pay some extra money.

8) The Trans-European expresses are equipped with interurban telephones through which
the traveler can contact office or home.

9) Passengers were not allowed to get off the carriage because the stop of the train lasted
only three minutes.

10) The staff is not allowed to use office telephones for private calls.

2. Match the beginnings of the sentences with their endings.

1) The cursor on the screen can be | a) till it stops raining.

moved

2) You must not cross the street b) what you can do today.

3) You should hurry up; ¢) he couldn’t start it.

4) Can you show me d) with the help of the mouse.

5 You may take any of these |e)we can be late.
instruments

6) You need not copy this text; f) taxes to the government.

7) Something was wrong with the car g) I’ll give you a Xerox of this page.

8) Never put off till tomorrow h) when the red light is on.

9) Everybody must pay 1) the way to the station?




10) You may wait in the office

j) because I don’t need them now.

«5»

1. Match two sentences to make mini dialogues. Pay attention to the modal verbs

and their equivalents.

1) The car in front of him stopped so
suddenly that he was not able to brake
and smashed into it.

a) The plane was to take off at 5 a.m.
and in this hurry-scurry she left the
ticket on the table.

2) | am to return my library books today
but | have no spare time at all

b) You should
apologize.

ring her up and

3) I haven’t paid my monthly rent yet.
Friday is the last day | can do it, but |
am to leave for Moscow today. Can you
help me?

c) He can speak English rather fluently,
but that time he was so embarrassed that
he was not able to say a word.

4) | am afraid, | was rude to Kate
yesterday.

d) You should record the film. Have you
gota VCR?

5) I have got an urgent work and my
computer doesn’t work.

e) I’m sorry but I was not able to start
my car and had to go by tram.

6) | have to prepare for a test but there is
a film on TV I’ve wanted to see so
much.

f) You should phone Nick. He has got
clever fingers. I am sure he will be able
to help.

7) Why are you so late? You should be
more punctual.

g) You are to return the books today or
you will have to pay a fine.

8) Can he speak English? He was dumb
as a fish the whole evening.

h) You needn’t worry. I shall be able to
go to the bank tomorrow and pay it.

9) Why did she have to come back
home?

1) I can’t believe it! He is such a careful
driver.

10) Drivers should not surpass the speed
of 60 kmh within the city limits.

j) Of course, they are not allowed to
drive too fast along the streets.




2. Translate the following sentences from Russian into English paying attention to
the modal verbs and such expressions as: It should (must, can) be said that...—
Caenyer (Heo0X0QHMO, MOKHO) CKa3aTh, 4To... It should (must, can) be mentioned
that...— Caenyer (He00X0aUMO, MOKHO) YIIOMSIHYTb, 4TO... It should (must, can) be
noted that...— Caenyer (Heo0X0aMMoO, MOKHO) OTMETHTH, 4TO... It should (must,
can) be stressed that...— Ciaexyer (He00X0AMMO, MOKHO) MOTYEPKHYTD, UTO...

1) Cnenyer OTMETUTh, YTO JIOASM B OONBIIMX TOPOJaX MPUXOTUTCS TPATUTh MHOTO
JICHET Ha OIUIAaTy Mpoe3a B OOIECTBEHHOM TPaHCIIOPTE.

2) Bam npuércsa moToponuThCs, €CJIM Bbl XOTUTE YCIETh HA MOE3/I.

3) OH He cMoT 3aBecTH [to start] Mauny.

4) Kornma omkeH ObL1 IPUOBITH MTOe31?

5) Emy npuxonurcs €31UTh B KOMaHAMPOBKH [to travel on business]| kaxapiii Mmecs.
6) Tebe cneayet ObITh 00JIE€ BHUMATEIIbHBIM.

7) OH cMOXKET OBICTPO OTPEMOHTHPOBATH [tO repair]| KOMIBIOTED.

8) Ham npuiiiocs B3ATh TaKCH.

9) OH He cMOT MPUHSATH y4acTUE B KOHPEPEHIIUH.

10) PoGept momken yexaTh B JIOHIOH CEroTHS BEUEPOM.

BAPUAHT 2

«3». Choose the right variant.

1) Thetrain ___ arrive at 5 p.m. but it detained because of track repair work.
a) must b) had to c) was able to d) was to

2) The speed incities  exceed 60 km per hour.

a) shouldn’t b) is to c¢) need not d) will be allowed to

3) Itis a non-smoking carriage. You ___ smoke here.

a) must not b) should c) need not d) are allowed to

4) You carry your driving license with you.



a) should b) are not allowed to c) will not be able to d) was to

5) You  answer the question if you don’t want to.

a) have to b) need not c) may d) will be able to

6) Thetrain __ depart from the station, as the line was busy.

a) couldn’t b) is not allowed to c) wasn’t to d) were not able to

7) You __ come tomorrow.

a) mustn’t b) are not allowed to c) needn’t d) were not able to

8) You __ shout, | am not deaf.

a) need not b) will not be able to c) are not allowed to d) can

9) They __ leave yesterday because there were no tickets available for today’s train.
a) were able to b) had to ¢) could d) must

10) _ you give me a lift to the nearest Metro station?

a) should b) need c) can d) could

11) The pilot __ land the plane on only one engine.

a) needn’t b) was able to c) should d) were allowed to

12) Airline passengers __ use mobile telephones during the flight.
a) are able to b) are not allowed to c) were to d) needn’t

13) Stay here till she is free. | think you _ wait long.

a) need not b) will not have to c) are not allowed to d) shouldn’t
14) According to the rules a football player _ touch the ball with his hands.
a) is able to b) has to c) must not d) will be allowed to

15) Luckily I find a taxi.

a) have to b) could c¢) was to d) shall not be allowed

«“4»
1. Read and translate the following sentences paying attention to the modal verbs

must, can, may, need, should and the equivalents of the modal verbs.



1) I will have to pay 50 rubles extra for my luggage because it is overweight.
2) He can’t leave the country until the police return his passport.

3) In England the speed of the first cars was not to surpass four miles per hour.
4) This car is automatic, so you do not have to change gear all the time.

5) Drivers of express and fast trains must have a rest after 3 hours of work.

6) Here all the workers are to wear protective clothing.

7) If you are traveling by air, you mustn’t carry anything in your luggage that can be used
as a weapon, such as a knife or a pair of scissors.

8) We were to leave for England on Saturday but because of the delay with our visas, we
had to book tickets for Monday.

9) Passengers should not walk across the railway lines; there is a footbridge at the end of
the platform.

10) You need not go to the railway station to buy tickets because you can book them at
the nearest travel agency.

2. Match the beginnings of the sentences with their endings.

1) The cursor on the screen can be | a) till it stops raining.

moved

2) You must not cross the street b) what you can do today.

3) You should hurry up; ¢) he couldn’t start it.

4) Can you show me d) with the help of the mouse.

5) You may take any of these |e)we can be late.
instruments

6) You need not copy this text; f) taxes to the government.

7) Something was wrong with the car g) I’'ll give you a Xerox of this page.

8) Never put off till tomorrow h) when the red light is on.

9) Everybody must pay 1) the way to the station?

10) You may wait in the office j) because I don’t need them now.




«5»

1. Match two sentences to make mini dialogues. Pay attention to the modal verbs

and their equivalents.

1) The car in front of him stopped so
suddenly that he was not able to brake
and smashed into it.

a) The plane was to take off at 5 a.m.
and in this hurry-scurry she left the
ticket on the table.

2) | am to return my library books today
but | have no spare time at all

b) You should
apologize.

ring her up and

3) I haven’t paid my monthly rent yet.
Friday is the last day | can do it, but I
am to leave for Moscow today. Can you
help me?

c) He can speak English rather fluently,
but that time he was so embarrassed that
he was not able to say a word.

4) | am afraid, | was rude to Kate
yesterday.

d) You should record the film. Have you
gota VCR?

5) I have got an urgent work and my
computer doesn’t work.

e) I’m sorry but I was not able to start
my car and had to go by tram.

6) | have to prepare for a test but there is
a film on TV I’ve wanted to see SO
much.

f) You should phone Nick. He has got
clever fingers. | am sure he will be able
to help.

7) Why are you so late? You should be
more punctual.

g) You are to return the books today or
you will have to pay a fine.

8) Can he speak English? He was dumb
as a fish the whole evening.

h) You needn’t worry. I shall be able to
go to the bank tomorrow and pay it.

9) Why did she have to come back
home?

1) I can’t believe it! He is such a careful
driver.

10) Drivers should not surpass the speed
of 60 kmh within the city limits.

J) Of course, they are not allowed to
drive too fast along the streets.

2. Translate the following sentences from Russian into English paying attention to
the modal verbs and such expressions as: It should (must, can) be said that...—
Cnenyer (Heo6X0aMMO, MOKHO) CKa3aTh, 4TO... It should (must, can) be mentioned
that...— Caenyer (He00X0aUMO, MOKHO) YIIOMSIHYTh, 4TO... It should (must, can) be



noted that...— Caenyer (Heo0X0aMMoO, MOKHO) OTMETHTH, 4TO... It should (must,
can) be stressed that...— Ciaeayer (He00X0HMMO, MOKHO) MOTYEPKHYTD, YTO...

1) Tel cMOXkentb IPOBOAUTE MEHS?

2) Heobxoammo cka3aTh, 9TO €CJIM ThI XOYEIIh TOBOPUTH MO-aHTIUHCKH, TEOE MPUIACTCS
MHoro [hard] paGoTarts.

3) Crnengyer OTMETUTH, YTO JIOO0N MHKEHEP MOXET JaTh Tebe MH(OPMALUIO IO 3TOMY
BOIIPOCY.

4) A Haneroch, OHU CMOTJIA KYITUTh OWJIET HA MOCIEIHUM MMOE3I.
5) Tsl MOXkelIb UATH, 1 3aKOHUYY paboTy caMm.
6) MbI JOKHBI ObUTH BCTPETUTHCA HA CTAHLIMU B 6 4acOB Beuepa.

7) CnenyeT moaYepKHYTh, YTO OHA ObLIa BBIHY)KJICHA paccKa3aTh BCEC IOJIMIICHCKOMY
HUHCIICKTOPY.

8) BbI He TOJKHBI Ipekpaiath padboTy, noka [till] Bel €€ He 3aKkoHUHnTE.

9) Cnenyer OTMETHTD, UTO OOBSABICHUS HA JOCKE TOJDKHBI OBITh HAIMMCAHBI 3arJIaBHBIMU
OykBamu [in capital letters].

10) Emy mpuxoautcs €3uTh B KOMaHIUPOBKH [to travel on business] kaxapIit Mecsiil.

NTOI'OBASA PABOTA
NJI IpoBeaeHus AudpPpepeHIMPOBAHHOIO 3a4eTa

Kontpomupyemsie kommerennmun OK 02, OK 04, OK 09, TIK 1.1, TIK 1.3, TIK 3.1,
IIK 3.3

MeToan4ecKkue VKa3aHusd K HTOroBoi padore

JlanHast paboTa MOKET OBITh UCIIOJIb30BaHA HA 3Tare KOHTPOJIs 3HaHuil. Pa3paboTtano 2
BapuaHTa 3aJlaHuii. Bce BapuaHThl pabOThl PaBHOLICHHBI.
Pabota paccuutana Ha 40 MUHYT.

Kpurepuu onenku:

Kaxxnoe 3amanue npuHOCUT ompeieIEHHOE KOTUYECTBO 0alIoB.

«OTtauuno» - 41-38 6amios;



«Xopomoy - 37-34 6aIoB;
«Y10BJIETBOPUTEJIBbHOY» - 33-26 6aiios;

«HeynoBjieTBOpHUTEIBLHO» - MeHee 25 0aioB.

BAPUAHT 1

I. Ilepenumure U nepeBeIUTe NMPEAJI0KEHUA, IOCTABUB IJIaroJl B HY’KHYI0 (popmy.
(2 6as1a 32 KaKI0€ BEPHOE NMPeIJI0KeHne)

1. Before the invention of steel all railways cars (to make — Past Perfect Passive) of
wood.

2. We arrived at the railway station when the train (to approach — Present Continuous
Active) the platform.

3. The construction of the new circular road which (to link — Future Indefinite Active)
several districts (to start) — Present Perfect Active) recently.

II. Ilepenumure W mnepeBeauTe MNPeII0KEHUS, BbIOpaB NPaBUIbHYI0 (opmy
ckasyemoro (Active or Passive). (2 6ajia 3a kaka0e BepHOe NpPeLI0KEHNE)

1. A new device (has tested; has been tested) in the lab.
2. | know that these engines (are producing; are being produced) in Minsk.

3. The airplane (crosses; is crossed) the Atlantic Ocean in about ten hours.

I11. IlepeBenuTe npensio:keHus, oopamasi BHUMaHHe HA ynoTpedjieHHe MOJAJIbHBIX
raarojioB. (1 6a/ 3a Kaxk/10e BepHOe NMPe/I0KEHHE)

1. Drivers of express and fast trains must have a rest after 3 hours of work.

2. The new automated control system will eliminate all types of accidents, which can
be caused by the driver’s error.

3. You need not hurry up: you may take a later suburban train.



V. IlepeBeauTe npeaiokeHus, 00palasg BHUMaHNe HA ynorpeodJenue Participle I B
9

(GyHKUMAX onpeaeneHuss 1 00cTosATeIbLCTBA. Boinuinute npuyactus . (2 6aaaa 3a

KAK/10€ BEPHOE NPeNI0KEeHe)

1. Passengers leaving for London were requested to register and to weigh their
luggage.

2. He jumped on the step of the moving train.

3. Each railway station has at least two tracks, those for the incoming and outcoming
trains.

V. Oopasyiite Participle II ot ruaarosioB, AaHHbIX B ckKoOkax. IlosydeHHbIe
CJI0BOCOYETAHHS NMepeBeanTe. (2 6aJ1J1a 32 Ka)K/Iblii BEPHbI BADHAHT)

1) a (to damage) car; 2) freight (to transport) by railways; 3) an engine of (to
improve) design; 4) (to weigh) luggage; 5) a (to choose) profession; 6) a (to restore)
bridge; 7) a locomotive (to drive) by steam; 8) figures (to mention) in the report; 9) the
(to forget) promise; 10) the distance (to cover) by train.

BAPUAHT 2

I. Ilepenuumiure U MepeBeIUTEe MPEAJI0KEHUA, IOCTABUB IJIaroJl B HY’KHYI0 (popmy.
(2 6aji1a 32 KasK10€ BEPHOE NMPeII0KeHHE)

1. When we (to come — Past Indefinite Active) to the railway station, all the tickets
(to sell out — Past Perfect Passive) already.

2. Computers (to use — Present Continuous Passive) more and more extensively in the
world today.

3. Train fare (to increase — Present Perfect Passive) several times during the past year.

II. Ilepenumure W mnepeBeauTe NPeNI0KEHUsS], BbIOpPaAaB NPaBUWIbHYIO (opmy
ckasyemoro (Active or Passive). (2 6ajuia 3a Kak10e BepHOe NpPeLI0KEHNE)

1. The wooden supports for rails (call; are called) the sleepers.

2. The workers (were inspecting; is being inspected) carefully the carriages before
the train departure.



3. One of Metro stations (will build; will be built) near my house.

I11. IlepeBenuTe npenyio:keHus, oOpamasi BHUMaHHe HA yHOTpedJeHre MOJAJbHBIX
riaaroJioB. (1 6aJu1 3a Kask/10e BepHOe Npe/UIoKeHne)

1. Both direct and alternating current may be used on electrified railways.
2. Steel, which is used for the production of rails, must be of high quality.

3. The double-track railways are more convenient than single-track railways because
the trains need not wait for the other trains to pass.

IV. IlepeBeaure npensio:keHus, odOpamas BHUMaHue Ha ynorpeodsaenue Participle I B
(pyHKUIMAX ompeaeneHus U o0cToATE/IbCTBA. Boinumure npuyacrus |. (2 6aana 3a
KaK/10€ BEPHOe Npe/LIoKeHne)

1. Trains arrivals and departures are announced by a loudspeaker, it is very
convenient for people meeting somebody or seeing somebody off.

2. All the trains operating on the suburban lines are driven by electricity.

3. Driving a car in the rush hour, you must be very attentive because traffic is very
heavy.

V. Oopa3zyiite Participle II ot ruaarosios, gaHHbIXx B ckoOkax. IlosyyeHHbIe
CJI0BOCOYETAHHS MepeBeanTe. (2 6aj1ia 3a Ka)K/Iblii BEPHbIH BAPHAHT)

1) an engine (to invent) by R. Diesel; 2) the (to approve) plan; 3) a bag (to leave) in
the bus; 4) (to receive) information; 5) a new supercomputer (to develop) by Japanese
engineers; 6) (to burn) gas; 7) the (to insure) car; 8) (to increase) volume of traffic; 9) a
(to force) landing; 10) a (to work out) project



